-1~

Invitation to Bid No. : u.Jnusy.(v.EB22566

Specification No. : RHDW-011/2556

C

C

i

la

ib

le

td

Material, equipment, and specifications for QVERHEAD LINE HARDWARE

General material and packing instructions

Additional to the general instructions, the following shatl be observed -

Scope

These specifications cover line hardware for overhead linc construction.

Standard

The overhead line hardware shall be in accordance with the latest TIS, VDE

Regulations, DIN, and PEA Drawings attached to these specifications, or

cqutivalent,

Principal requil;ement

The overhead line hardware shall be marked with manufacturer’s name or tradc-
mark, cxcept full thrcad double amming bolts, full thread stubbing bolts, and
washers.

All fomous matcrials shall be galvanized after manufacturing. Mcthod of
galvanizing and thickness of coating shall be according to the attached Table
“THICKNESS OF ZINC COATING”. Free samples shall be supplicd on
request.  The samples will not be retumced.

Packing

Each item should be packed in suitable packages in scts or picces of 10, 50, 100,
or that specificd in Table “"Packing Details for Overhcad Line Hardware . (sce
page 3 of 3).

The gross weight of cach package shoutd not exceed 40 kg,

If there are scveral packages, the number of package shall be stampced on cach

packagc or cach tag, as follows :

package number / total number of packages.

Form No. 93-2/9.13

Pagc | of 3


501205
Typewriter
น.3กบญ.(จซ.)EB2/2566


T

C2

2a

2b

2c

Material and packing data to be given by bidder

For cach item offered, the following details shall be submitted with the bid :

Cataloguc number,

Description of materials used for the componcnt parts.
Surface finishing of the componct patts,

Zinc coating in g/m: or um (I um = 0.001 mm).
Minimum breaking strength in kgf.

Weight in kg/sct or picce.

For cach item offercd, a detail drawing with dimensions in mm shafl be submitted

with the bid.

Packing details

Packing method.

Number of sets or picces in cach package.

Dimcnsions of cach package in cm.

Gross weight of cach package in kg (should not cxceed 40 kg).
Net weight of cach package in ky.

Number of packages.
IF several packages ate contained in once big case, further details are required ;

Number of packages in cach case.
Dimcnsions of cach casc in ¢cm.
Gross weight of cach casc in kg.

Number of cascs.

Form No. 93-2/9.13

Page 2 of 3

Il



3~

Table

Packing Details for Overhead Line Hardware

Quantity

PEA Material No., Per Package Packing Method
00120004, 01000103 18 Bundle
01200001, 01200002 20 Bundle
01010100, 01200004, 50 Bundle
01200005 | |
01200007 150 (15 per layer) Bundle
01110200, 01110201,

01140000, 01170001, 150 Sack
01180001 |

01110202, 01110203 100 Sack
01110204, 01110205, 75 Sack
01140001, 01140002 '
01110206, 011 10207,

01110208, 01110401,

01120000, 01120001, .50 Sack -
01120002, 01130000,

01130001, 01130002,

01140003

01180100, 01180201 500 Sack
01180301 5,000 Sack
02440102 30 Sack
02440103 60 Sack

Form No. 93-2/9.13
Page 3 of 3
I




PROVINCIAL ELECTRICITY AUTHORITY

®,

midshduglo TECHNICAL SPECIFICATION DIVISION
PACKING DETAIL
Specification No.: - Approved date: 14/08/2558 Rev. No.: - Form No. - Page 1 of 3
Addendum

This addendum is made to be a part of specifications it’s attached.

1. Replace the packing detail only for the specific items in the specifications by the packing detail specified in

Table A1 below:

Table Al: Packing Detail

4,000 mm

Number of
PEA’s material Packing Quantity per
Item Equipment packages/cases
No. method package/case
per pallet
Connectors and cable accessories:
1 Hot line bail clamp (hot line stirrup clamp), for | 1-02-033-0000 Sealed 40 49
main aluminium conductor size 25 mm’ to 50 mm” package
2 Hot line protected thread clamp for main aluminium | 1-02-033-0100 Sealed 50 100
conductor size 25 mm’ to 50 mm’ package
3 Hot line protected thread clamp for main aluminium | 1-02-033-0101 Sealed 50 50
conductor size 50 mm’ to 120 mm” package
4 Compression splicing sleeve, full tension, for | 1-02-040-0002 Suitable 100 100
aluminium conductor size 50 mm’ package
5 Compression splicing sleeve, full tension, for | 1-02-040-0004 Suitable 50 100
aluminium conductor size 95 mm’ package
6 Compression splicing sleeve, full tension, for | 1-02-040-0007 Suitable 30 50
aluminium conductor size 185 mm’ package
7 Compression splicing sleeve, full tension, for | 1-02-040-0009 Suitable 30 50
aluminium conductor size 400 mm’ package
8 Compression splicing sleeve, partial tension, for | 1-02-041-0002 Suitable 100 100
aluminium conductor size 50 mm’ package
9 Terminal connector (lug), compression type, for | 1-02-041-0106 Suitable 50 50
aluminium conductor size 185 mm’ package
10 | Pin terminal, for aluminium conductor size 50 mm’ 1-02-042-0400 Suitable 50 100
package
Overhead line hardware:
11 | Angle steel crossarm, size 150x100x12 mm, length | 1-00-012-0002 Bundle 10 -
4,500 mm
12 Channel steel crossarm, size 100x50x5 mm, length | 1-01-000-0103 Bundle 20 -
4,200 mm
13 Channel steel crossarm, size 100x50x5 mm, length | 1-01-000-0104 Bundle 20 -
4,500 mm
14 | Channel steel crossarm, size 150x75x6 mm, length | 1-01-000-0300 Bundle 20 -
2,800 mm
15 Channel steel crossarm, size 150x75x6.5 mm, length | 1-01-000-0301 Bundle 20 -

11




®,

PROVINCIAL ELECTRICITY AUTHORITY

midshduglo TECHNICAL SPECIFICATION DIVISION
PACKING DETAIL
Specification No.: - Approved date: 14/08/2558 Rev. No.: - Form No. - Page 2 of 3
PEA’s material Packing Quantity per Number of
Item Equipment packages/cases
No. method package/case
per pallet
16 Channel steel beam, size 150x75x6.5 mm, length | 1-01-000-0302 Bundle 20 -
4,500 mm
17 Channel steel beam, size 150x75x6.5 mm, length | 1-01-000-0303 Bundle 20 -
6,000 mm
18 Channel steel beam, size 150x75x6.5 mm, length | 1-01-000-0304 Bundle 20 -
2,500 mm
19 Channel steel crossarm, size 150x75x9 mm, length | 1-00-012-0004 Bundle 20 -
3,000 mm
20 | Angle steel beam, size 65x65x6 mm, length 1,000 mm | 1-01-001-0000 Bundle 100 -
21 Bolt, machine, M 16 x 170 mm 1-01-011-0201 Sack 100 56
22 Bolt, machine, M 16 x 300 mm 1-01-011-0204 Sack 80 56
23 | Bolt, machine, M 16 x 350 mm 1-01-011-0205 Sack 80 56
24 | Bolt, machine, M 16 x 450 mm 1-01-011-0207 Sack 40 56
25 Bolt, machine, M 16 x 500 mm 1-01-011-0208 Sack 40 50
26 Bolt, machine, M 16 x 600 mm 1-01-011-0209 Sack 40 50
27 Bolt, machine, hexagon head, M 16 x 75 mm 1-01-011-0400 Sack 200 56
28 Bolt, machine, hexagon head, M 16 x 550 mm 1-01-011-0401 Sack 40 50
29 Bolt, machine, hexagon head, M 16 x 600 mm 1-01-011-0402 Sack 40 50
30 | Bolt, machine, hexagon head, M 16 x 650 mm 1-01-011-0403 Sack 30 50
31 | Bolt, double arming, full thread, M 16 x 450 mm 1-01-012-0001 Sack 40 50
32 | Bolt, double arming, full thread, M 16 x 500 mm 1-01-012-0002 Sack 40 50
33 Bolt, double arming, full thread, M 16 x 550 mm 1-01-012-0003 Sack 40 50
34 | Bolt, double arming, full thread, M 16 x 600 mm 1-01-012-0004 Sack 40 50
35 Bolt, double arming, full thread, M 16 x 650 mm 1-01-012-0005 Sack 30 50
36 | Bolt, double arming eye, M 16 x 450 mm 1-01-013-0001 Sack 40 56
37 Bolt, double arming eye, M 16 x 500 mm 1-01-013-0002 Sack 40 50
38 Bolt, double arming eye, M 16 x 650 mm 1-01-013-0005 Sack 30 50
39 | Bolt, round eye, M 16 x 200 mm 1-01-014-0001 Sack 80 56
40 | Bolt, round eye, M 16 x 250 mm 1-01-014-0002 Sack 80 56
41 | Bolt, round eye, M 16 x 300 mm 1-01-014-0003 Sack 50 56
42 | Bolt, oval eye, M 16 x 150 mm 1-01-015-0000 Sack 80 56
43 Bolt, oval eye, M 16 x 200 mm 1-01-015-0001 Sack 80 56
Insulators and accessories:
44 | Insulator, pin-post type, TIS 1251, Type 56/57-2 1-03-001-0101 Export 2 30
package
45 | Clevis-eye 1-03-014-0000 Suitable 40 56
package
46 | Ball-clevis, ANSI Type K 1-03-014-0001 Suitable 30 56
package

11




®,

PROVINCIAL ELECTRICITY AUTHORITY

wrisilhdruglons TECHNICAL SPECIFICATION DIVISION
PACKING DETAIL
Specification No.: - Approved date: 14/08/2558 Rev. No.: - Form No. - Page 3 of 3
Number of
PEA’s material Packing Quantity per
Item Equipment packages/cases
No. method package/case
per pallet
47 | Ball-hook, ANSI Type B 1-03-014-0002 Suitable 40 56
package
48 | Ball-clevis, ANSI Type B 1-03-014-0005 Suitable 40 56
package
Surge arresters:
49 LV surge arrester, 480 V, 5 kA 1-04-000-0300 Suitable 100 5
package
Meters:
50 | Watt-hour meter, 15(45) A, 3-phase 4-wire 1-06-005-0107 Suitable 50 -
corrugate-paper
package
51 | Watt-hour meter, 30(100) A, 3-phase 4-wire 1-06-005-0108 Suitable 50 -

corrugate-paper

package

2. Sacks used for packing equipment shall have enough durability and shall be made of hemp rope.

3. Bundle packing shall be using galvanized steel wires with diameter not less than 4 mm.

4. Pallets supplied to PEA shall have dimension not more than 1.1 m x 1.1 m (Width x Length) and the total

height after containing the packages/cases shall be less than 1.5 m.

11




-4 -

invitation to Bid No.: 1.3nuty.(v.JEB22566

Specification No. :

RHDW-011/2556

C3 Schedule of detailed requirement

PEA
Item Material Quantity Description
No.
| 01200001 4’950 Brace, tlat, for crossarm, of flat steel 30x6x760 mm, scc
1010200001) Drawing No. K 31-09063.
2 01200002 Ditto as ltem 1. bwt 40x6x|,600 mm. scc Drawing No.
(10d0Zox0 ) K 31-09063 .
3 01200003 Ditto as ftem 1, but SOx10x1,950 mm, scec Drawing No.
(A040.90000%) SA2-015/39005.
4 01200004 Brace, alley arm, of angle stecl, 40x40x5 mm, 2,120 mm
(1010200001 long, scc Drawing No. K 31-09064.
S 01200005 Ditto as Item 4, but 50x50x6 mm, 2,350 mm long, sce
(A0N220000C) Drawing No. K 31-09064 . '
6 01200007 Brace , for crossarm . of hot — rolled cqual angle steel |
C\010500009) S0xS0x6 mm , 1,800 mm widc , 450 mm drop , hot - dip
galvanized not less than 50 micromcter , sec Drawing No.
SBI1-015/22014.
7 01110000 Bolt. machine, of mild stecl, square head, similar to DIN 601,
(104042 0000) M 8. 25 mm long, fength of thread 22 mm, complete with one
(1) squarc nut, scc Drawing No. 150-015/140367.
8 01110101 Ditto as ftem 7, but M 12, 50 mm long, Iength of thrcad
Clotoifotel) 40 mm, scc Drawing No. 150-015/140367.
9 01110200 1242 Ditto as Item 7, but M, 16, 130 mm long, length of thrcad 35
Clo4o1holdo) mm, scc Drawing No. K31-09072.
10 01110201 6,070 Ditto as Item 7, but M 16, 170 mm long, length of thread 50
C\oYo1A 0g0Y) mm, sc¢ Drawing No. K31-09072.
11 01110202 105’600 Ditto as Item 7, but M 16, 200 mm long, length of thread 50

CLOA OO0y )

mm. see Drawing No. K31-09072.


501205
Typewriter
น.3กบญ.(จซ.)EB2/2566

501205
Typewriter
7,242

501205
Typewriter
6,070

501205
Typewriter
105,600

501205
Typewriter
4,950


o R

Invitation to Bid No. : u-3ﬂU51.J-(W-)EBZ/2566

Specification No. : RHDW-011/2556

C3 Schedule of detailed requirement

(lolo11 0400

PEA
Item Material Quantity Description
No.
12 01110203 129069 Ditto as Item 7. but M 16, 250 mm long, length of thread 75
(fot011cuon) mm. sec Drawing No. K31-09072,
13 01110204 Ditto as Item 7. but M 16, 300 mm long, lcngth of thicad 75
ChroroMozom) mm, scc Drawing No, K31-09072.
14 01110205 10,800 Ditto as Item 7, but M 16, 350 mm long, length of thicad 75
. (\010410305) mm. scc Drawing No, K31-09072.
15 01110206 3’250 Ditto as ltem 7, but M 16, 400 mm long, length of thrcad 100
C 1010110J0¥) mm, sc¢ Drawing No. K31-09072.
16 01110207 706 Ditto as tem 7, but M 16, 450 mm long, length of thrcad 100
C'Mioj) mm, scc Drawing No. K31-09072.
17 01110208 360 Ditto as Item 7, but M 16, 500 mm long, length of thread 150
Cloto 44 oot ) mm, scc Drawing No. K31-09072.
18 01110209 40 Ditto as ltem 7, but M 16, 600 mm long, length of thrcad 200
Clolo1\ 03N) mm.
19 01110300 Ditto as Item 7, but M 20, 350 mm long, length of thread 100
Clo10140%00) mm.
<% .20 01110301 Ditto as ltem 7, but M 20, 400 mm long, length of thread 100
Clo10110%04) mm, scc Drawing No. SB1-015/22017.
21 01110302 Ditto as Item 7, but M 20, 450 mm long, length of thread 100
Cloictob) mm, sc¢ Drawing No. SBI-015/22017.
22 01110303 Ditto as Item 7, but M 20, 550 mm long, length of thrcad 150
Clotoirobo?) mm, scc Drawing No. SBI-015/22017.
23 01110400 Bolt, machine, of mild stecl, hexagon head, similar to DIN

601, M 16. 75 mm long, length of thread 75 mm; complete
with one (1) hexagon nut, one (1) fock nut, and two (2) round
washers, similar to DIN 5SS, DIN 936, and DIN 126
respectively; see Drawing No, SA2-015/39019 .


501205
Typewriter
129,069

501205
Typewriter
10,800

501205
Typewriter
3,250

501205
Typewriter
706

501205
Typewriter
360

501205
Typewriter
40

501205
Typewriter
น.3กบญ.(จซ.)EB2/2566


-6 -

Invitation to Bid No.: 1, 3nugy,(ve.)EB2/2566
Specification No.: RHDW-011/2556 :

C3 Schedule of detailed requirement

PEA
ftem Material Quantity Description
No.
24 01110401 Bolt, machinc, of mild stecl, hexagon head, similar to DIN
Cio10110a01) 601. M 16, 550 mm long, length of thread 150 mm:
complete with onc (1) hexagon nut, one (1) lock nut, and two
(2) round washcrs, similar to DIN 555, DIN 936, and DIN 126
respectively; sce Drawing No. S 01-015/18035 .
25 01110402 Ditto as ltem 24, but M 16, 609 mm long, length of thrcad
C\otot)oaoa ) 150 mm, sec Drawing No. S01-015/18035 .
26 01110403 Ditto as Item 24, but M 16, 650 mm long. length of thread
Ciol011040%) 150 mm, sce Drawing No. SA2-015/39019
27 01120000 Bolt, double arming, full thread, of mild steel, M 16, 400
(Yel0i6000) mm long. complete with tour (4) squarc nuts. sce Drawing
No. K31-09069
28 01120001 Ditto as ltem 27, but M 16,450 mm long, see Drawing No. K3 1-09069.
Clotod 20004 )
29 01120002 Ditto as Item 27, but M 16, 300 mim long, sce Drawing No. K31-09069.
(Aorohi0002)
30 0112000 Ditto as Item 27, but M 16, 550 mm long.
Clot04 2 000%) s
RY | Ditto as Item 27 but M 16, 600 mm long, sce Drawing No. K3 1-09069.
L oL O L 000
32 01120005 Ditto as ltem 27, but M 16, 650 mm long.
C1010120005)
33 011 Bolt, doublc arming cyc, of mild steel, forged round eye
Cleto1r0000) having 22 mm diamcter hole, M 16, 400 mm long, length of
thread 350 mm; complete with threc (3) squarc nuts,
minimum breaking strength not less than 5,000 kgf. see
Drawing No. S 01-015/17007 .
34 01130001 480 Ditto as ltem 33, but M 16, 450 mm long, length of thread
Clovoryoe0l) 400 mm, scc Drawing No. S 01-015/17007.

fL



501205
Typewriter
480

501205
Typewriter
น.3กบญ.(จซ.)EB2/2566


-7

Invitation to Bid No.: u.3nusgy.(a%.)EB2/2566

Specification No. :

RHDW-011/2556

C3 Schedule of detailed requirement

PEA
Item Material Quantity Description
No.
a5 01130002 240 Ditto as ltem 33, but M 16. 500 mm long, length of thrcad
(lorodvocot) 450 mm, scc Drawing No. S 01-015/17007.
36 01130003 1,170 Ditto as ltcm 33, but M 16, 600 mm long, length of thread
10 {300e
Cleto(%000%) 550 mm, scc Drawing No. S 01-015/17007.
E ) 01130004 Ditto as ltem 33, but M 16,

39

40

41

43

Cro1e (»000L)

01130005
Clo40 1%0005)

01140000
(\o\e1Apaos)

(1 mmmooﬁ,)

01140001
C1040440001)

01140002
C10101A0003)

01140003
C10101A000%)

550 mm long, length of thread
500 mm, scc Drawing No. S 01-015/17007.

Ditto as ltem 33, but M 16, 650 mm long, length of thread
600 mm, scc Drawing No. 5 01-015/17007.

Bolt, round cyc, of mild steel, forged round eye having

22 mm diamcter hole, M 16, 100 mm long, length of thread

75 mm; complete with two (2) squarc nuts, minimum breaking
strength not less than 5.000 kgf, scc Drawing No.
S01-015/19041.

Ditto as Item 39, but M 16, 150 mm long, length of threcad 100
mm, scc Drawing No. SA2-015/39018 .

Ditto as [tem 39, but M 16, 200 mm long, length of threcad 150
mm, sec Drawing No.S 01-015/19041 .

Ditto as Item 39, but M 16, 250 mm long, lcngth of thrcad 200

mm, scc Drawing No. S 01-015/19041 .
Ditto as ltem 39, but M 16, 300 mm long, length of thread
250 mm, scc Drawing No. S 01-015/19041 .


501205
Typewriter
น.3กบญ.(จซ.)EB2/2566

501205
Typewriter
240

501205
Typewriter
1,170


- 8 =

Invitation to Bid No. : u.3ﬂU@.(Q%.)EBZ/2566
Specification No.: RHDW-011/255¢%

C3 Schedule of detailed requirement

i

PEA
Item Muaterial Quantity Bexcription
No.
a4 01150000 Bolt, oval cye. forged steel, M 16, 150 mm long. length of
Clere\S Coce) thread 100 mm, complete with onc(1) square nut, minimum
breaking strength not less than 6,500 kgf, sce Drawing No.
SBI1-015/22018.
45 01150001 Ditto as Item 44, but M 16. 200 mm long, length of thrcad
Cloror=0001) 150 mm, scc Drawing No. SB1-015/22018.
46 01150002 Ditto as Item 44, but M 16, 350 mm long, length of thread
CioAoN50002) 150 mm, sce Drawing No. SB1-015/22018.
47 01150100 Ditto as ltem 44, but M 20, 350 mm long, length of thread
C\o\ei50400) 150 mm, minimum breaking strength not less than 12,000
kyuf, sce Drawing No. SB1-015/22019.
.48 01150101 Ditto as ltem 44, but M 20, 450 mm long, length of thrcad
@A AT 200 mm, minimum brecaking strength not Icss than 12,000
kgf, see Drawing No. SB1-015/22019.
49 01160000 Bolt, stubbing, full thrcad, of mild stecl, M 24, 600 mm long,
Clototvooeo) complete with four (4) squarc nuts and two (2) flat washers
72x72x6 mm, 26 mm diameter hole.
50 c OIJ?O(?PJ y Ditto as [tem 49, but M 24, 800 mm long .
51 CLotoivesss) 1,000 Ditto as Itcm 49, but M 24, 1,000 mm long .
52 Ditto as ltcm 49, but M 24, 1.250 mm long .
53 Cﬁé&%ﬁj} Ditto as [tem 49, but M 24, 1,600 mm long .
C \olo} LC004)
54 01180001 750 Nut, eye, of mild stecl, similarto DIN 582, forged cye 35
Q—-———Mo 1%0001) mm in diameter, thread for bolt M 16, minimum breaking
strenpth not less than 5,000 kgf, sce Drawing No. S Ol-
015/16004 .
55 01180002 Eyclet, according to NEMA standards or cquivalent,
C\_o\owooo;) minimum brcaking strength not less than 8,320 kgf, scc

Drawing No. SB1-015/22028.


501205
Typewriter
น.3กบญ.(จซ.)EB2/2566

501205
Typewriter
1,000

501205
Typewriter
750


-0 -

[nvitation to Bid Ne. : 1.3nugy.(au.)EB2/2566

Specification No. :

RHDW-011/2556

C3 Schedule of detailed requirement

PEA
ltem Material Quantity Description
No.

56 01180003 Nut. cyc, thimble. forged steel, thread for bolt M 16, minimum

(C\e\o1¢0003) breaking strength not less than 6,500 kgf. sec Drawing No.
SB1-015/22029.

57 01180004 Ditto as ltem SG, but thread tor bolt M 20, minimum breaking

(1) oi%ooolt) strength not less than 8200 kpf, see Drawing No. SBl-
— 015/22029.

58 01180100 500,827 Washer, square, flat, of stecl, according to Table 6 of TIS

Clo101%0100) 258, nominal size 16 ( 18 +g'7 mm  diamcter holc),
52x52x4.5 mm.

so | o1isot01 Dito as lem §8, but nominal size 20 22 *OF  mm
Cloiolgoroy) diamcter holc), 62 x 62 x 6 mm.

60 01180102 Ditto as Item 58, but nominal size 24 (26 +0¢8 mm
¢ IS0 diamcter hole), 72 x 72 x 6 mm,

6! -01_180103 Ditto as ltem S8, but nominal size 12 (14 " 0[']7 mm
C\-?‘—m&) diamcter hole), 40 x 40 x 3.2 mm.

~ 62 01180200 Washer, squarc, curved, of mild stecl, dimensions 50x50xS mm, 18
’ C lmm) mm diameter hole, sce Drawing No. K 31-09073.

63 01180201 400 Ditto as ltem 62, but dimensions 60 x 60 x 5 mm, 22 mm
Clototvo o) diameter hole, sce Drawing No. K31-09073 .

64 01180300 Washer, lock, of spring steel, according to Table 1 of TIS 259,

65

C10\01%0%00)

01180301
C Lol 0120%0))

I

nominal size 12 (12.2 +g'6 mm diameter hole), 21.5 mm
maximum outside diameter, 3.0 mm minimum thick.

Ditto as ltem 64, but nominal size 16 (16.2 +g'8 mm diamcter
hole). 28.0 mm. maximum outside diamcter, 4.0 mm minimum

thick.


501205
Typewriter
500,827

501205
Typewriter
400

501205
Typewriter
น.3กบญ.(จซ.)EB2/2566


Invitation to Bid No.:

Specification No. :

- 10 -

RHDW-011/2556

C3 Schedule of detailed requirement

PEA
Item Material Quantity Description
No.
66 01180302 Ditto as Itcm 64, but nominal size 20 (20.2 i 3'8 mm diameter
Clololgoy hole), 33.8 mm. maximum outsidc diameter, 5.1 mm minimum
thick.
67 | 01180303 Ditto as lem 64, but nominal size 24 4.5 * 10 mm
CM) diameter hole), 40.3 mm. maximum outside diameter, 5.9 mm
minimum thick.
68 01050000 Pipc, steel, nominal size 20 ( 26.9 £ 0.4 mm outside diameter ),
C t0}0050000) wall thickncss not less than 2.27 mm, 100 mm long. without
thrcad on both ends. hot-dip palvanized not less than 65 pym |
or pipe from galvanized steel pipe. Type 2, in accordance with
TIS 277 shall be accepted.
69 01050002 Ditto as Item 68, but 150 mm long.
C!o 10050002 )
[Fietesseion) —see-DravineNo-SBH0+53+004= Iluaiua RHDW-004/2550 Item 1 uny
71 00120004 Crossarm, of channc! steel, 150x75x9 mm, 3.000 mm long,
Cloool o) scc Drawing No. SA2-015/39005.
7L 01000400 Channel steel beam, according 1o Table 4 of TIS 1227, with :
C1040000400) Nominal sizc © 200 x 80 x 7.5 mm
Length : 1,000 mm
Punched holes/slots, and fabricated as shown in Drawing No.
SA2-015/23010.
73 01010000 Angle steel beam, according to Table 2 of TIS 1227, with :
(C\ 0100 1 0000) Nominal sizc : 65x65x6 mm
Length 1,000 mm

I

Punched holes/slots, and fabricated as shown in Drawing No.

SA2-015/23009.



Invitation to Bid No. :

Specification No. :

RHDW-011/2556

C3 Schedule of detailed reguirement

C1010000i0v)

I1

PEA
Item Muteriul Quantity Deseription
No.
74 01030102 Plate, steel double arming, 12x100 mm, 760 mm long, scc
(10100%0109) Drawing No. SA2-015/28002.
15 03140011 Thimble clevis, pressed steel, minimum breaking strength
Clo»0i40011) not less than 900 kgf. sec Drawing No. S01-015/19058.
76 03140013 Plate spaccr, of mild steel, minimum ultimate strength not
Clo%o14003) less than 16,500 kgf, sce Drawing No. SB1-015/22042.
77 01030002 Plate, steel, 6x100 mm, 450 mm long, scc Drawing No.
C lo\0e3000)) SB1-015/22015.
78 01030100 Plate, stecl, double arming, 12x100 mm, 650 mm long, scc
Clolocrolo0) Drawing No. SB1-015/22016.
79 02440102 Clamp, guy. triplc bolt, suitable for stcel stranded wire  50-
C 1020440109) 95 mm’, scc Drawing No. SA2-015/23024.
80 02440103 Link for cablc spacer, 9.0 mm diamecter steel round
Clo2024010%) bar, scc Drawing No. SA2-015/23024.
8l 02440112 Bracket, of channcl stecl, 100x50xS mm, for aerial cablc
C1020A2011) comner support. sce Drawing No. SB3-015/64004.
82 01000106 Crossarm, of channel steel, according to Table 4 of TIS

1227, with :
- 100x 50 x Smm
: 2500 mm

Nominal size
Length
Punched holcs, and fabricated as shown in Drawing No.

SA2-015/39025.


502923
Textbox
SB3-015/64004.


Invitation to Bid No. :

Specification No. :

-i2 -

RHDW-011/2556

C3 Schedule of detailed requirement

PEA
Item Material Guantity Description
No.
83 01000201 Ditto as [tem 82, but
(101 000020Y) Nominal size : 125x 65 x 6 mm
Length : 3,000 mm
Punched holes, and fabricated as shown in Drawing No.
SA4-015/39025.
M 84 01110404 Bolt, machinc, of mild stcel, hexagon head, similar to DIN

85

86

C1010110A0A)

02200106
(102020010%)

02200107
C1020200104)

i1

601. M 16,50 mm long, length of thrcad 40 mm ; complete
with one (1) hexagon nut, and two (2) round washers,
similar to DIN 555, and DIN 126 respectively; see
Drawing No. SA2-015/40001.
Vibration damper, dumbells type (stockbridge), for overhecad
ground wirc diameter range 9.0 - 10.0 mm (Stecl stranded
wirc S0 mm’), approximatc total weight 1.6 kg (3.5 pounds).
Vibration damper, dumbells type (stockbridge), for conductor
diamcter rangc 27.0 - 29.0 mm (ACSR conductor 380/50
mm®), approximatc total weight 7.3 kg (16 pounds).
Note :

1. Pitches of stecl bolts and nuts shall be according to

the attached “Nominal Thicad Diameters and Pitches

of Stecl Bolts and Nuts".

|29

Dimcnsions and tolcrances of M 16 machine bolts
shall be as specificd in the attached “Dimensions and
Tolerances of M 16 Machince Bolts™.

3, ONLY thrcads of stecl bolt and nut shall meet
acceptance tests specified in the attached
“Acceptance Tests for Threads of Steel Bolt, Anchor

Rod, and Nut™.



_ loo¢ol0\ol)
el ww E1X91 N INQ °L WY e oniQ 00Z01110 | 6
0@ 1yoVol)
wuw ()¢ XZT WInQ 'L Wway] se oulg 10101110 3
: (e200110101)
*inu a1enbs (1) auo Yiim 210jdwod ‘ww §7 X§ W ‘aulyoew ‘jjog 00001110 L
F10Z2/S10-19S 'ON Suimel( 23S ' J3WoIdIW G uey
ssa] lou poziueajel dip — 1oy * doip ww oGy * IPpIM WW QOR"] ‘Wil
: (t2000¢ 0101 2
OXQS$X0S ' [991s 2[Tur |enbd pajjoi — 1oy JO * ULIBSSOID 10j T 3deig £0000Z10 9
(4 00000\ 0]
" TUOf WW OSE'T "W 9X(§XQS g " W] ST oRIg $0000TI0 S
yooooe Q101 )
“Juo] WW O7]'7 "W SXQpXOp '[9S 3| 3ue Jo uLe A3j[e *ddnig +0000Z10 b
(42000 £O\01 )
T w86 X0 XS Ing T WM se onIg £0000Z10 £
(Co000 €DV
W Q00" I XgR0F ING [ Wy se onig 0000210 C
_ (\200C0191)
0S6 ¥ "W 09/ X9X 0 [901S 1B JO TULIBSSOI0 10] B[ ‘DoTig 10000710 i
(payarlim (payary)e
SUOIIPUOY sumipuos p "ON ‘ON
${jT1ap 93§) SUTIap 23§) Amnuend) uopditasa(g andopme) | rnsareEpy wa}j
1507 Jein g 1500 e ) vid
Dale(]
< "ON P
R SIAPSUSS 35T O
(B 30 Ayuno) 9SST/TI0-MAHY : "oON uonedypady
s 9952/283(¢) enug ™ -on prg o1 uonraiaLy

LAaAnoEpnUR [y

g - (


501205
Typewriter
น.3กบญ.(จซ.)EB2/2566

501205
Typewriter
4,950

501205
Typewriter
7,242


11

\okOLl0V 0| )
T WIW QOPX0T W Inq 'L waly se olig 1001110 0z
(00401 1010()
Wi 0SEXT N Inq *L WA se onrg 00¢0IT110 61
Boeo 110101)
oy "W 009X9T W Inq *L WAl se oni[ 60ZOTIT0 81
(30201101 0ld
09¢ W OQSX9] A InQ 'L W se ouQg 1110 L]
(Loeoilolon)
90.L *WW OSpX9] JA ING 'L WA SE oNi( LOZOLLIO | 91
_ (aorailolol)
057' W Q0EX91 W ING 'L wayf Se oig 90201110 gl
( 50€ 01} 0L OL)
008'0T "W OSEX9] W ING 'L waj] st oniq S0ZOI1E0 | I
(hoeo Viovol)
“lW Q0EX9 I ng L W] se oul(] 0201110 ¢l
(zogolioiol)
690'621 TWw OSZX9] W Inq 'L wal] se oLg £0201110 | I
* . (CoeQ 10101 D
009'90T Wil 007X91 W Ing °L W] se onrg 20201110 Il
(\oro \\otoD
0.0'9 Ww QL [X91 W NG 'L wa] se oniq [0Z0I110 | Ol
{patjaeyie {pagar)ir ‘ON
FapIDN R TRAHPERY Amurnd) uondiadsaq ‘0N Je e wa|
SIIRIP 338) s[IEIp 338)
S0y [RIY N0 U ngojein) Ydad
: 330G
< "ON PIfl
1 1appigl IMPIRIS TG ¥D)

w810y Jo Anunoe))
{0~ ]

sdanpepnury

A )

9SST/1T0-AMAHY : 'ON wonedyads

09Gz/za3(me) fanug'n “ON Pig 01 uonEIAY]

=il = m_


501205
Typewriter
น.3กบญ.(จซ.)EB2/2566

501205
Typewriter
6,070

501205
Typewriter
105,600

501205
Typewriter
129,069

501205
Typewriter
10,800

501205
Typewriter
3,250

501205
Typewriter
706

501205
Typewriter
360

501205
Typewriter
40


Al

_ﬁco%_o__oc
" ww OGSX9] W NG Tz waj seonig £000Z110 | Of
(Re00t101012
"W 0psx9T WiIng “L7 walj seonlqg NoooN:ou 67
(1000T1Q10|
W OSHX9] W INQ LT W] seoniq 100021 _o.._ 8C
0000710]0]
‘sinu 24enbs () 400 Yiim 212]dwod ‘W OOpX9] W ‘Suiunie ajgnop yjog Mooocm 10| LT
(zovoliolol )
Tww 0S9X9[ NINg pg Wl se onig £0POTTIO0 | 9T
Qoqosﬂﬂo
ww 009x9[ W Ing "pT Wl sE oI Or01TI0 74
" SIUSEA PUNOJ (7) OMI pue “Inu ¥20] () 2u0 “Inu uodexd
P (4] P 100} (1) 4 (avonea)
(1) 2u0 Yiim N2[dW0d ‘W )GSXg] N “peay uodexay ‘aulydew 1jog 10001110 | 2
" SIDYSEM PUNOJ (7) OM] PUE "INU 320| (]) Juo ‘Inu uofexdy h
00701 10\O1 )
(1) DUO Ylim 219|dWOD (Wil §/ X9 JA ‘peay uodexay “auiyorw j0g 00F01110 74
(0% QL0191
"W 0SSX0T W Ing “L Wl seolig ,Bmo_:o [44
(Poc0V10W1)
" ww OSpXQT W Ing T, W] se ol 70t01110 1T
{paydene (poyaegn "ON
SUOHIpUDI TP SUOHJIPUOD By Quuen .
S[IE1P 328) S)iTRp 33%) ) . ey - g e e
100 JR10 L SUD) 1u ) sndo[mie) viad
HET 4
$TON PiY]
: Jappig] AMPIPS NIF $D

g Jo »:E:_U
H X.-...E-uﬂﬂ;.—..

tAaunpegnur|y

+

9SSZ/TT0-AAAHY : 'ON uopedyadg

"ON Pig] 03 LORENAU]



Il

.%mx FrssssssssesarasransanErre m p_-ﬁv—.bfu
0lT'T yiduans Supjealq Wnwiuiw ‘ww 009x9] W Ing ‘¢ WA seonig £000E110 9¢
..mmx. EEvrssrasEsssrassEmEIERln chgﬁforodpu
24 i8uans Funjealq WnWUIW WW OOSX9] JA Ing ‘€f Wal] seonlq ZO00L110 gt
. -.wmx AErssrreEsesstn st dinaiann Aﬂgﬂoﬂoﬂu
08y Buans BunLa1q LINWILI *WW OSpX9T A I *€¢ WAl S2oma 10005110 | ¥E
RE2!
s (ZUONS FUINBDNQ WNWIUNW ‘Sinu aenbs  (€) 22y T ——
s . (o000x 011D
gim 210]dwod ‘ww (opx9| ‘94 punos pafioy Suiue ajgnop ‘ijog 0000€T 10 €€
(a000t10191)
C W OS9X9] N ING LT WDy sTowg S000Z110 ct
(h©oaT\010]]
FWw009%9] N Ing “LT W] seonlq v000TT 10 1€
(pagaElR (paydrale "ON
SRR VHNIREOY S Anuend) uondisaq oN el | oway
S1E1p 238) SHEAP 236)
1800 [Ti0] IS0 1 ) andojee)) vid
HE3 LA
{ON PHH
ta3ppig SAPAEE T $0
R Jo AR 9SST/TT0-AAAHY  : "ON uonraypdy

D IRW-2pel |

L AINIRINUR |y

( 91 - (

09G7/zg3(me)fonugn  "ON PI 03 UOREIIAN]


501205
Typewriter
480

501205
Typewriter
240

501205
Typewriter
1,170

501205
Typewriter
น.3กบญ.(จซ.)EB2/2566


Al

- vam s R R AR sarrsrnarirnis ANDOO&:.OFD& u
(18uons Fuijedlq WnWIUIW ‘W O§ZX9] W NG ‘6¢ W] Se oniq Z000PII0 | TP
¢y s (bo004i0l ot )
yi3uans uiyeaiq wnWiuiW ‘W (0ZX9] Al INQ ‘6¢ WAl e ONiQ 1000¥110 Iy
..%mx e T L L L LTy
mFuans Furjealq Wntulnm W g X9 A Inq 6§ WA se oulq Q_So# 0 op
PRy e Buans UiNEaIq WNWIUIW SNy 2000 1001y
21enbs (7) oMl yhim 219|dwod ‘wiw gg|x9] A ‘94> punos padio} ‘ijog 0000F110 6f
me NesmasriEdanirae R, mg—o—oﬁg
qfuons Fuiealq wnWwuiw ‘W gS9X9] W INQ ‘¢Ewal] se oniq SO00EL10 8¢
. m Msimasssssnsrassaninneshny
#%5 (h0005101010
8uons Junjediq wnwiuiy Ww 55X N INg ‘g¢ w] se onig $000€110 LE
(payarne (payarye ON
SaN RN AR Anuend) uondiasaq ‘ON (LIEERLI T way
sjielap 33g) S[IE)Ip 238)
1507y (P10 1500 U andojmed vad
Taeg
LON P a
+4pPig SP3YS G v
uidixg) jo Knuno) 9SSZ/II0-MOHY : ON uonmpadg
: JBW-3pra L ‘ON PIg 0} UOIBIIAUY
T 134njapjnungy
- hm -



‘stoysem 1e|j (7) oml pue sinu gu
h
aienbs () 403 yum doydwiod ‘ww o9xpz W ‘PEAIp [0y ‘Juiqqnis jog 00009110 | &V
y8uans Furyealq wnwiuny ‘W Spxez W NG ‘pp Wi se oniqg 1010ST10 | 8%
..wmvw PR R e R hgu
yiduans Juiyeasq WnWIuIW ‘W 05Xz W Ing 'y WA se oniq 0010S110 | L¥
yduans uiyealq WnWiW "W OSEX9] A NG "y Wo se ouig T000STI0 ¢ 9%
vaﬂ PP e P T h_.§F°ro.fu
QIRUSNS FUINBOIq WNWIUI W OOZX9] JA ING ‘pp WaY] SB ONIQ 10005110 Sy
me ........... T ﬁwcﬁ.ﬁum mcmu_mv.ﬁ wnwiui h|||||
Qa05\010\ )
mu aaenbs (1)auo yiim 0191dwod "ww 0S| X9 A 942 1240 10 00005110 § wr
..hmx bavennan eenvereEe R %gﬂﬁapoﬁu
YRUaNS FUBIQ WNWIUIW ‘Wil GOEX9] W NG ‘§¢ Wal) st oulg £000vII0 ¢ ¥
{PIyaeLIE (payarpie . g
SUMIPUOd B SUOLIIpUNd ON ON
S[RIAP 335) Siieiep 938) Axpuendy uojdiaas3Q mBojmardy | lepuEw | wag
1507 1810, WO U viad
19eq
+'ON PIgl
: 1appig I[APIYIS T 7D
upBla() Jo A3uno)) 9SST/L10-MAHA : oN uonroynadg
tjITw-apel] ‘ON DI 03 UORRIALY
L AMNARINUT§y

rx— -



11

+ 71 9ZIS [CUIWIOU NG ‘RS W] SE OWI( %ng_ 19
"y LIS [RUIWIOU NG "G WAy e onId ZOE08T L0 09
* 07 9zIS [RUIWIOU NG ‘§G WS ST Oul(Q Qwﬁww%%“oo . 65
128'00S ' 9] 9zIS [BUIIOU “1B]) ‘d1eNDS "JYSEA ﬁo%m.wmw_ﬂnmﬂu 8¢
Y8y e qiduans Juiyealq winwiuil ‘g¢ wWaj se ouig Svo%mmmﬂomu LS
YRy - 1fuans Sunjealq wnwiuiw 3jquirys *okd 'y moaobomm,www i 9¢
Y e (iuans Supealq wnwliw 19243 Qmo%mwﬁ_.%c_.u S
0G. Ay e iduans Sunyealq wnwuiw ‘g o 94 padio] inN n..n_umMm%"w__o s
W 09" XpT INING "6 WA SB 0N ?ﬂmﬁ%ﬂﬂ.u £S
S ST XBT A NG g Wl] se ol Amooom:_o,_b__mm_.%mu s
0007 Tuw 00" 1XpPZ W ING "6 WAl s ong ﬁmmmw%,_om y 1S
" U ORXNRT N NG g W] SB ONIQ n.._.ﬂm“mw _mn%u_ 0$
(payaene (pagore ‘ON
1807 [rI0] 1507 Jtu Y INBOIrIEY) vad
“3....:
:'ON PMI
: 1appig SRS UL D
AHHIAC) §o Anunog . 9SST/TTI0-AAAHY  : "ON uonesypadg
 dr-apea ] . oomm\mmmﬁ.@&.apcm.: 'ON Plf] 01 uoneAu]
P ARANIRIAUE]Y

( 61 - (


501205
Typewriter
1,000

501205
Typewriter
น.3กบญ.(จซ.)EB2/2566

501205
Typewriter
750

501205
Typewriter
500,827


A&Bn.oom 1)

“Buo] ww goy ‘wiw 9o xZ ‘Furwre d)qnop ‘[231s ‘aeld noo.nm._%.mw..__.m.,u vL
10
‘Fuoj ww goY'] W gX§HXGY S2IS [EUILOU *WEAq J301s 9jfuy nolmmmmomﬂﬂ.lo__u H
. 1 M
fuoj wuw (00'T WU §'LXQ8X00Z 92iS [BLILIOU *WEaq [331S [SULRYY) Amm.wmmmuﬁ._d 14
‘Buoj W (OO'E "WW EXSLXOST “[221S [FUURYD JO ‘LLIESSOID) m.wobgu_ I
: —DOHERO e o
mmao.woo._odu
‘Buop ww (g Iq ‘g9 wal| SEonLq Aoonm-m..%m.%%.mﬂ 69
‘8 *0Z 9zis [euiwou '[9S ‘ads 00005010 89
uoj ww 00| "7 ezis [eu I id ROV )
‘$ 921S |BUILLOU 1N ‘p WdY] S ONI(] Aw%o%%mm_.m%d L9~
o
'0Z 92ZIS [BUIIOU ING ‘pQ WA SB ONI(] n_“mm.mm.m,%u 99
"9 9zIS [eUILIOU INQ ‘H9 WIY] S ONIQ nohwmmmfm%% 4 $9
‘T1 2ZIS [BUILLIOU “YO0] “IYSE M4 mewomwn_:_mfu o 7
00 |0y IDIAWERIP WW 77 ‘Wil $X09X09 1NQ ‘79 Wal] Se oniq ﬁ _omomﬂ_v.ﬁoo €9
3]0y JOJOWEIP WW ] “WW {XOSX0S PpoAInD “duenbs Iayse 00z08110 79
.
{payoriie (payaejie
SUOIIIPULY SUUlpu0d 3B Aiuend) uondiasag ‘ON |RLER]Al W33
S[IE1ap 338} S[iejap aag) andojrie) vid
1500 [RIn] 180 U] i
HE L]
:*0N pigl
1 1ppIy IMPIS I )
1ujdgiQ) Jo Anuno?) 9SST/TI0-AMTHY : ON uonwaypadg

Djirw-apet |

SSEATTREATITL B

A - 0T - ﬂ

0967/zd3(%t) fanug'n “oN pig 03 uopeiAU]


501205
Typewriter
400

501205
Typewriter
น.3กบญ.(จซ.)EB2/2566


11

"SIaYSesm puno. (7) 0m3l pue ‘inu uodexay () auo A 7o)
yaa a101dwod  twiw (g x 91 A ‘pesy uofexay “suiyoew ‘jjog bOPOTTIO bs
"Auo] ww g’
R (Geaotan)
‘WLW 9 X §9 X §7| JZIS [CUJWOU *|22)S [2UURYD JO ‘LLIRSSOID) 10200010 €s
‘Buo] ww Qs'z
(q0l0a00101)
‘ww § X (0§ X Q[ 9ZIS [BUIIOU ‘[32]S [2UUEBYD JO ‘ULIESSOI) 90100010 8
‘noddns
(Wovvardl)
13109 9jqBO [BLIOB 10} ‘WW §XQSX0Q| ‘[991S |JUUBYD JO IYIRIg 71105520 18
(4010VVoPOL )
IEG PUNOI [321S I2JDWRIP Wl (g ‘1a9eds Jjqed 10§ JuiT . £0105¥20 08
. A (T0\OWVorol)
WW §6-0S 24iM papuRLS [2215 10) djqeiins Y3j0q adi 'And ‘dwe)) = 6L
"Buo] W 059 ‘ww g1 xz1 "RuiwLie 2)gnop *[91s ‘e[ nopomo_ngomoom ou 8L
. . , (F000%00]0|()
BU0] W oS ‘Wwiw golXg ‘1901 ‘aejd 70005010 LL
.L\mv— I P P T T PR TR T PRSP
(%looriogol)
yfvons  Junjealg wnwioiw ‘pPAS  ppw jo o tiaoeds  2iepd 100pTE0 9L
] olﬁwuﬂ mebassmsaseni gERRasatbaias Viseaassaie
(11007102010}
pifluans  Fupedlq wnuwiulw ‘1esls  passald  CSIASD djquiiyl 11007150 SL
(payacle (pagaryie : i
SULIIpULY B SuoLIpu0d
m apalies . . )
S11%19p 995) syeip 395) L3jurnQ uopdiiasag ON |ee 1
1500 [RID L 1807 1) andojeie) viad
L
$°ON PH] %
> 3ppPIgl IMPIYSS BHJ D
30 Jo Ayunag $SST/TNO-MAHY : "ON uopeay3dg
D ARUW-3pESY *CN PIg ©) UORTIAUY
AUNITINUE]Y

. - A



‘(spunod 9] ) 83 g2 Tram

(2103 appwixoidde ' ww O5/0€ 101NPUd YSIV) Wi (/67 - ('LT 2Fued (Lo100€0CaY )
JQJDWWRIP JOINPUOD 10] ‘(2FpLIq®o0I1s) 2d Al sjjequunp iadwiep uoneIqiA LOI00ZT0 98
(spunod ¢°¢ ) B 9] WyTioa [e101
orewxoadds (Wi 0§ dum POpURNS [931S) W (01 - 0'6 a3url eleWelp (41000841
241m pUnoId peayIsA 10j ((28puigoois) 2dA sjjaquinp adwiep uoneiqiA 90100220 G8
(payarlir (payoe)n
. 0N
SUoiIpuod ¥ SuDHIpuLa B
SEIop 93%) spEIop 23§) Anuend uondrasag "ON LSRRI wayy
1500 eI W07 1u) andojcie)) vad
Daeq
"ON il
: 1appig S[APINS LG D
(18 Jo Anuno) 9SSZT/TI0-AAAHY @ "ON uopwunRadg
P HJrw-aped] *ON PIg 01 uopieIIAUY
HIRERD TR T T
- NN -

(



. GONVD SSINDDHL ONILVOD DUENOVWOUIDETH | ¥0 ,, ISALOWD

130198
06T €6 ON WM

3

INANQMISNT ONRINSVIN DUENDVN V RLIM CRUNSVAN 38 TIVHS SNIWDAIS 5O ONILVOD J0 SSINSIDILL © ZL1ON

SL reg L~ )R
001 po<
8 ¥o-8%v
SL gy >
co 7e> "9 'dLV1d WHOVAS "TAALS LV ‘1ENOVEd THELS
St ol > 'SIAFIO NOVY ‘QEVND AND 'HIEWIHL AND ‘HOVYEE -
) ¢ dIRIS
001 v9<
¢g ¥o-7¢ — s
i 7 > 7 ‘O NNOYD ‘LENOAVE
Sy o1 > “HALS WAVYSSOUD 'BTIONV '1HHLS “THNNVHD THRIS -
) ¢ SIVHS TTVHNISTHLS
“o01 ‘SAOVHS MOHDONV ‘AAT SIAHTD
o5 ‘BAE TIvd ‘SIAHTO 1TIvH "1TVE SIARTD X "NOOH TIvd -
¢ SHDILEY D E0A
“oe ‘JNVIO NIVHLS ‘SIABTD IHNO0S “HAH LAD0S -
98 ! SONIEVD
08 Q0¥ YOHONY -
€< €9 - 9Ly
I 9Ly > YEHSVAMADOT ‘“YBHSVA -
£¢ ) 01 W ¥ZAO -
34 01 W OL dn -
2 P LAN MO07 'LNN ‘NId ‘L10€ -
: SHENAISVA
(ul) SSINNDIHL ONLLVQD (voan)
SONVY SSENDIOIHL "THALS TVIRSLVIW/ AH00ALYD TIALS

FOVIIAY WANININ



m—

Nominal Thread Diameters and Pitch

es of Steel Bolts and Nuts

Bolts and Nuts shall have nominal thread diameters(d

pitch;{P} as specified in the table below :

) and coarse

Nominal Coarse Pitch(P)
Thread Diameter(d) .

in mm in mm
6 1
8 1.25
10 1.5
12 1.75
16 2
20 / 2.5
24 3




M 16 machine beclts shall have dimensicns and tol

pimensions and Tolerances of M 1b MaCiiZie "=- 2

in the takle below :

erances as specified

Y —" —* [
AN °/< _1_ _ S
O™ = o
N
=
. 1 s
PEA | Machine e rcas in mm)
Mat.No | ggiz 3 1 B " p ™
01110200 M 16x130 + 0%35} (+1g°) { 355, (ig:g, (Zi gr ?4 { 130 9)
- 0.70 - -0']'-0.9 - 0.8 :
16 170 50 10.5 26 or 24| 13
sz fr 165170 o 338, |+ 3 | =9 |edD (28] (20
16 200 so | 10.5 | 26 or 244 13
01110202 | 16x200 |+ 0.95, |+ 3 )} ¥ 512 Jo o fx 09
16 250 75 10.5 26 or.2d 13
01110203 Ju 16x250 |+ 0.95, |(+ 5 sl * 0 (#2:0) et e o
01110204 M 16x300 |+ 0 o8 i s 20 i3l N
SPSErS TN EA- TP R (BRAPSE My (*o.g)l 09
16 350 75 10.5 26 or 2 13
vt o aoxsso o+ 035, 05+ 8 B Ko a0
01110206 [M 1o6x400 | + OEgS +420 1208 ig:g Zi gr 2 1
o3 [T el Do |Cele? (*og)|x0.9
16 450 100 10.5 26 or 24 13
01110207 j 16x450 |+ g:gg) ¢+ ;.15)( + g} ‘tg:g’ ( * g.a’ ( +0.9)
01110208 |M 16x500C | + o%gs +530 lioa 13:3 zi o 2q b3
S-S I (RAEART] (2B 2 IS S IFEN IS St
Note : Thread length (b) is measured from the end of the bolt to

the last thread of nut entering.



Acceptance Tests for Threads of Steel Bolt, Anchor Rod, and Nut

1. Nuts shall be run the entire length of the bolt thread section
without undue forecing with the fingers.

2. Strength tests shall be conducted with a minimum of three (3)
full threads of thread section beyond the nut as shown in
Fig. 1; failure shall not occur in the threaded section
below the minimum strength (P).

Minimum
Kind of Bolt, and Anchor Rod Size
Strength, P (kgf)
Machine bolt, Double arming bolt,| M 16 5,000
Double arming round eye bolt,
Round eye bolt, Stubbing bolt, M 20 9,000
Oval eye bolt, Single strand eye
bolt, Anchor rod M 24 14,100
i
UNTHREADED SECTION
THREADED SECTION =
=—— ADAPTOR
H N D e
P = p MINMUM , THREE FULL THREADS




e e v L

5 A R‘” ‘

[ D by .fﬂ‘ﬂ“'.‘.'f.'.__

LD A o b

= --——--ﬂ.q--

e -

ol ﬁaum mungum, ﬁumm uéﬂmumwﬁm
ipfuafaumAmEn

ﬁ’lNﬂIﬂ

q‘i" ) ) . WA, Wi
1 ENSIONS  IN MM, MATERIAL , SURPACE
MAT.NO. A B c Y €% FINISHING , REMARKS
mr}:mu 30X6 mi%,E
‘ FURASIMENINTT
o-zooo_m 760 707 265 ] 18 o 3oxym. L
SES¥ HOT GALY. "
WARMUH 40)(6 WRANTTYU
n!.q' »
01200002 | 1000 950 25 18 18 mam.immq;m
FLAT IRONJOXE ILD S TEEL,
EM =" PROVINCIAL "%EL!CTRICI'IY‘ 5 S |
it - dis T R R R A k
L Tt AL A—— =

BRACE ,FLAT, FOR CROSS-ARM

Ol CROSS ARMS,BRACES, ANCHORS, GUYING MATERIALS)
STEEL WIRE ,CLAMPS FOR STEELWIRE

K3l

090863

SHEET NO. | OF |

ke 5

L wrTT e

I ot X0 RS I



msussnauayh

-

. ALL DIMENSIONS ARE IN mm.

STEEL CHANNEL ACCORDING TO TABLE & OF TIS 116
. BRACE. FLAT ACCORDING TO TABLE 1 OF TIS 55

. HOT-DIP GALVANIZED

a WM

¢ CHANGE TO TIS 1227 TABLE 4

ASSEMBLY NO.
PRELIMINARY
MAT. NO. 00120004
5 1300— — 1300 l "3%0
|'—'—"'I~¥-- = T R ? + ¥ M . ]
1 e18 y
r 22
Te22 HOLE H
HOLE |, L l|’ OLE
) T cfic
* : .
[ 1 Ll 1 L_J - 75
LED) 1250— 200 1250 S0
‘ 3000— d
paudBLuLMingUs 0N
CROSSARM, STEEL CHANNEL , - <
MAT. NO. 01200003
0 70 698950
R TTOT 0,
() -J-
I 1 218 50]
HOLE
| 1950 .
winusziurause
BRACE. FLAT, FOP CROSSARM
NOTE:

AND DRACE, FLAT. FOR CROSSARM, 50x10%1.950 mm

o g o L ¥ | u
ARSI AINGSUIHWIRG:RSEUNA vL w W '] a e cﬂ ﬂ Lrunuwuy
AN ‘ﬂq, anunulaoeuy
A 0 Jy’cll”l'f‘"l‘: \Bowadeiud 20 n.w.39
SGAREL . 3 L anwuuTutt
wng T, v
FIMARLUN it ROLATHLUUMANIUT U YUIA 150x75x@NR.UTI 3.00 % finvdlu SadumRs
g INMSnay LRnMENUStfURaUETl TUIR 50%10x1.950 WA, VIR -
WIS D
muu"i'm‘ﬁ CROSSARM, STEEL CHANNEL. 150x75x9 mm, 3.00 m LONG vulan? Saz-015/39005

pﬁuﬁ 1 YINIUIU 1uc'ni




E?h

MITAuIReY 3103

L% 2103 dwitnu 02 | assemaLy no
. .
. 9 .
'.“.
= 1, A £ #
: &
— ; |
" ® v N |
SN
& .
of < M
T WELDED 31\ /\e

¥, ] « )
'??li}m‘n?ﬁ ¥ W DIMENSIONS MM, TRARTURT , MUY
MATNO. A 8 c Df | DF MAT. SURFACE FINMSHING ,REMARKS

_i

; 77
. minmnao';capo‘xs E neiny

| 30X6 NN, HIFIBON - uMngy -
| *

!

m
-n

nwmmww
BRACE . ANGLE IRON 40X40X 5MM
FOOT STEP . FLAT IRON 30X & MMi

{ MILO STEEL ST=3F HOT GALV.
A wOEORMR AFTER FABRICA-

01200004 | 2120 {1000

TION.

I d -~ o ™M

! MAAGTA SO X S0 X6 M. nTeitun
30 G K. mBnovu. kT Nukndd
munn§1u Ao

50 | BRACE ANGLE RON 50X50X6MM.
FOOT STEP. FLATIRON 30X6MM:
MILD STEEL $¥=3% HOT GALYV.
MesaaOEO AFTER
FABRICATION  _,

y .
b,,/"‘ 01200005 2350'1oooi 50 | 8 | 18 | 100

I

|

GERMAN  ADVISORY TEAM ~ PROVINCIAL  ELECTRICITY  AUTHORITY

o v ¥
W aos0ses | N AUINABMINITII

N J 3 / il
FOR P E. A. oi ﬁaumy.‘ﬁwnaumu,auwn,m;ﬂﬂumﬁ?ﬁm ,

| Oow_ by Soneiap MR wAn
e
—: -t L BRACE,ALLEY, ARM
. .\:J Ol CROSS -ARMS BRACES ,ﬁNCHORS, GUYING MATERIAL)
QX\ STEEL WIRE

\.f-x_ . - K 3 09064 SHEET NQ. | OF |




50~ |- e e g e et pmBp -.izg‘j._
“1100}- - - 100~ b -30--
A -—
! !
0,4 | "'!‘: J.
a
] ~—
SECTION aA-A
bo—d2 — - o3
T
Dl '] di Dw
1
HOLE DIMENSIONS
N
I'4 - y
.- : , _ aft idu WH,
'n‘n'mﬁ DIMENSIONS N mm k0 me1uea
MAT NO. os Dip MATERIAL, SURFACE FIBMING
A 8
(d3 {1 x d2)
F v o
01200006 1500 440 8 lax3o | minmnensnds  dinednfensoxsoxe
_ . N MR VBN, 36 1NN nois.
01200007 1,800 450 8 18X 30 | ANGLE STEEL, EQUAL ANGLES 0x8%
- X6 mm ACC. TIS. N8 HOT W GALY.
ACC. TO PEA. STANDARD

A .I II - - " 't - i . .

Bond) D e zoiq,‘z_z :
| 3 . . :
\ . o y

Firem 0 - e .
- ; . o " ] " ““ . ‘,,

. HARBINTUNAUSI A 50 % 50X6 Hu. : -

th o uza 0k

- e - . - - o - ; . - — ——

~ so-om/zgo)

BRACE, ANGLE STEEL 50X 50X6 mm , s
R B m‘j

b - -

T ormmeT ey




PRELIMINARY

— = i 4T
-1 da i —— - D
i . Y
| S
—i
—{ K +
- HINTINANY | MANRRIN
1.1 NUT,HE XAGON LOCK NUT,
DiN. 953 HE XAGON
DIN. 936
M/ A
TI et | Tz | =i——
bl\!"lﬂﬂlllllw
| WASHER , —— — 30 mm
l { ROUND , FLAT
! |
____“}mm
- A ¥ __t—-
T e NH prdtim] e ﬂiq BIUN
‘1 DIMENSIONS IN mm. {nn} [nn/
] BREAX! WEIGHT MATERIAL ,
[ max (wgt.)
T
01110600| 16/75 175 | 10] 24 ) 227, 182] 13 g | 8,000 sl
- |
ome#0d | gl 650i150 101 26 | 277} 192{ 13| 8 | 8,000 A
| 1 vwbned aw
i TN ﬂdl*
i 1 STEEL
| ‘.
i ' i
: T | HOT DIP GAL-
: R ' ANIZED ACC.TO
D! PEA. STANDARD.
: !
» ] w
rederesiniuasiona  shelEma rreivvraunfuma
- - - - SA2015/5019
Mo e asnndel Hannivaouy B st .
A 1 an.2539 7wyl Y
BOLT, MACHINE, HEXAGON M.16




PRELIMINA RY

J—
(G —
- .
-1 J—dg--—---
—
) a
i ¢
K |- -
v - ] ; -
SRAnIREN | Aasnmnimae
] NUT,HE XAGON LOCK NUT,  _
DIN. 555 HEXAGON
DIN. 936
—_ T, [—
‘__l T, e z I
BUIRNANBUS ‘
S WASHER , — .~ 30 mm
ROUND , FLAT l
l
l ‘; mm. I
' ' . i’I 4 ¥ J’i‘ R
ARART uh N4 st wmun, | ARG RUWT
1 DIMENSIONS IN mm. {nn) |nnjoo¥y
BREAKING WEIGHT MATERLAL,
MATNO |l D| LI BYK]|E]F [dol T | Ty [STRENGTHIg iooPesSURFACE FINISHING
i max. (kgtf)
Y
HANIAN
!
| -
i owiknd mu
i 119 UADY niln
| | STEEL
| !
omoact |16 (55015801 10| 24 1277]18.2] 13 B | 80OOO HOT DIP GAL-
-VANIZED AGGC.TO
oll0402 | 16 |60G[150 } 10 | 24 [27.7 }19.21 13 8 8,000 PEA. STANDARD.
-,
NEVAANIIN m'\Mphzﬁ unumﬂ U e

fofa oo

---------- Fwn s

uﬁwwnmm -

ﬁfmg o wﬂ e
szmswun

!i'l‘l m..

....... - ...--.....{..\:f --ﬁ-—-{-&,’« ianm

-

ﬁ ﬁf‘tﬂﬂﬂ R Wl ummua

mu 16

g

" BOLT,MACHINE, HEXAGON M.16

AT AL e ceeee
B N !
Srudfiiun ox 08,29,

¥ o“a . P
whutLIwn, 2K 10, 99,
Y T TSR

L U
WU S01;015/18038,

L] ” . [ ]
pase | gxemian 1w




Ta e gt R oS RAT 4 A T8

e

A T DR |

T PPN

B - v  r
#m o oy swiin, | ifn, niuen,
. DIMENSION N MM, 0o fuf wurunn
WEIGHT | MATERIAL, SURFACE
Mol Dbl 1B | K E [ F 1T kg00pn] FINMSHING, REMARKS

omoooo|Me | 25 |22 155 |13 184 6.5 mi‘!;'m;'!;um‘m:"l-l-&
U [ NI A, P U --" T L STTIEY ;15 T

o~
WIIRITLEFAT U N YU
— ~
nwn,

STEEL , PROPERTY CLASH

ongroof Mz | 3% 30 |8 |19 [269}9.53 46 TO TS 7]
! N 1 HOT DIP GALV. ACC.
omorot(mz [so a0 | 8 |io |269 |95 T0 PEA. STANDARD.
r
mﬁn’wnmunwwu I'I‘l?l ‘ ﬁ'1 J 3] Q‘ﬂ NIA wnengt .
AU
- - y gru S
A e (’I‘M ?w#ﬁ.amu/ -
_\:’1\]?:11_ - f(n‘n 3 — un‘/u T T, S
) Wnu : Y Wb
MEMES:EM 02 A“%'-"*momg;"[m"alm%ﬁ"']“ u’rn‘.!:u_ B
WO T - o
oA T | BoLT, MAGHINE NUTAL0-OIS/140367.

‘-_\:3--“"‘:‘ = 02 BOLT, HARDWARE, STRAIN B SUSPENSION wthod | e sturw L iy




K34 Q9072 SHEET NO. ) OF |

1 ~
= //
_ o
—nR 33
3 L~ { : J
1
NUT
[ Hmaen un . i oooT] ARRTOR? , mOgIma
1 ‘ DIMENSIONS ™ MM WEIGHY ERIAL, SURFACE
MAT. ND, o L B x 1 & F ] k900 Pesf AMSHING, REMARICS,
o200 M5 130 as 105 24 32 ~ 24.4
onozor | me | 7o | so [ 108 | 26 | 32 [~324 g
' &
oMozo2 MIG 200 | so 05 24 32 |~ a0.2 2 <
] w &
. < g ar
othozos | ms 250 | 78 08 | 24 | 32 |™ae £
. : © & _y
L TR R IR B < ] a4
Sk ,
JE e x . 3
oNnwo204 | M6 300 75 0.5 | 24 32 | ~% R L |
. —_ E 2 - =
RRUTRORUTUD NS RSN SUNP SR - i.Etes
o205 [me | o | 75 | os | 24 | 32 |wess EEE R .
L2222 Moo
R ) ) kv w T
OINOZ06 | M% 400 | 00 | 105 | 24 32 |wns
T - - — p— 4
‘omozor |me | am0 | wo | o5 | 20 | 32 |m796
omo208 | mis %00 | 150 0s | 2¢ | 32 jaare
- J 1 y} 1 <4
HTHIA auwrilusfladuguven NOTE . IF NOT OTHERWISE INDICATED
aﬂﬁ:rmn‘ub:ﬂnl WHh THE MACHINE 8OLT IS FITTED
MANURT AN WITH QNE  SQUARE NUT
GFRMAN ADVISORY TEAM -- PROVINCIAL  ELECTRICITY  AUTHORITY
L3 J
wmeEdn peted W
scace A oate 2279 /66 | daninatn ,
¥ n J -
bR & A FoR e E" A 02 ’{M‘Ilﬂ‘;lil'l; ln’;aﬁnn:n’{msnnﬂm
Dfﬂ. h ] T.l.—..,.-»\
oo 1 BOLT,MACHINE
‘:-“""’T m!."“ 02 BOLTS, HAROWARE STRAIN 8 SUSPENSION
.- -\" -
_\._).(L.(.,J(. e

. K}




T

AR

LR R

A o
8
—
_________ I =1 o
[
Pl
s
q L Ty LJ [
£, ~u HN _tﬂu wH, WHIN -, -~
. N iamy Lt
‘mG:M'W\ DIMENSIONS IN mm, ./ 100 ’:"” b
Vel . T WEIGHT | \ATEMAL & SURFACE Fresnew]
[ 'MATERIAL NUMBER | D A B | K £ kg, / 100 Fes. a8
! P S TN e
01110 30) m.20| a00| w00 | 13 | 30 | 18 |
mufm:':mumm“ ]
5 { M. 20| 4 13 16
| | 00302 | 50| 100 30 STEEL, PROPENTY CLASS
|M 4.6 ACC. TO TIS. 17!
OIN0303 -20| 850 150 [ 13 | 30| 16 HOT OIF GALV. ACC. YO
PEA. STANDMD.
. ] .’wu»uu ______________
| peorniognuy
76- 1‘ Jrnetelun 1% R za
i -
| w.m oo e { i,
' ) 5 si'*‘-‘ [
). TRNNALN 1ON, 20 LS L
7 f}r“";’¢ AR
a.;.w m-«ss.n.-mm.
—ESN TS BOLT, MACHINE Moo e RS




v

i3
- HFf——""_ -} e
- T —
N bt f o 4
nendn - N0 AL #uin AAI00 ", N
i DIMENSIONS N MM w00 “1"“1" i
WEIGHT mTERuAL SURFACE FINISHING,
MAT, HQ o a kg/100 PECES REMARKS
d ! %
mmnqum‘uun 4.6
oNZ0000| M6 400 ~ £9.2
miN Wen, i
!J'luifimawmu'tmﬂ‘m nvln_
fy— e m———— - - ————— m— bre nm me - _ [y . TR, ——m e
STEEL , PROPERTY CLASS 4-6
oh 2000t MIE 450 ~ 77.0 acc. To TS, 71
HOT DIP GALV. ACC. TO
- "1 PEA STAnOARD. |
oN20002 M6 500 ~ 850
e e} —— e p— — R P + N
onZo004 | wMis 600 ~
PTIEC A
!fmﬂi!ﬂ'li l]'lﬂ HIH T uumuy NOTE. W NOT OTHERW'SE INDICATED THE
nm]mlmth snpuRag. DOUBLE ARMING BOLT 1S FITTED
HH!HNE}N AMm WITH FOUR SOWARE NUTS.

GERMAN ADVISORY TEAM -— PWNG&L ELECTRICITY AUTHORITY
e o5 | TR 22/%/6 faﬂmnwmmn
: . - 02 ﬁﬂiﬂ@ﬁ"? lﬂil‘nﬂm‘{ﬂﬂ'lﬁl"niﬂ

5‘_’__ B 2o | BOLT, DOUBLE ARMING
}i er:fzr 02 BOLTS, HARDWARE, STRAIN B SUSPENSION.
-------- R ) K 3 09069 Isu‘ruonoru

IR L5 AT W e A7 2250 b et TR R S R




e

-._r--v\......_l,

g

QELIMINARY -y,

v s o
m,mnm:t‘:\lmduwmu ,
‘x -~ .
ARCIAREANHNANLTI NIV
;o oy -
wWRMRUH 3 M

| -
e 2 ~ .
. T l:l‘l\! LN mﬂd' M p) “\\l‘;l
m}m ' o o N MM nn (M. 1009
MAT NO MENS ' GREAKING| WEIGHT |  MATERWL , SUNRCE
i, Al 8 E | 0y108 #gACORs. FegHNg - A
: o ¥
oN30000 ' M16 | 400! 350 | 22 | 12 | 5000 | =68 WRANAT
| : .
: |
1 : 1 ': cwi’mzﬁmumpmﬂh*
OUI3000I M6 (450 1400 | 22 | @ | 5000 | =107 | STEEL '
| : |
30002 M6 | 500 450 |22 |12 | 8000 | =45 HOT D GALV. ACC.TO PEA. |
L , i , STANDARD ..
i ;l 1 ' ! .
ON30003 MI6 600 550 22 12 3000 &
[ T TS S SO GUpU s A
0130004 MI6 550 50022 - 12 @ 5000 5 l|
% '. |
01130005 MIG . 50 600 22 .. 12 5000 !
’. i I . ; '.- i
LTSV ITARY (I ¥ NOTE ©

IF NOT OTHERWISE INDICATED THE
DOUBLE ARMING BOLT, ROUND EYE,
15 FITTED WITH THREE SQUARE NUTS

{unuun K 3-020 70:

natidani milh Aunine
— v LN LT TR—
¥ — -
O T IO U PP T _51?“\\“1?”..3.9:9'!];@.
— , whaguii.. .
AP rnas | s
| i 128

BOLT, DOUBLE ARMING,
ROUND EYE.

e ——




CRELIMINARY

- N
B L
| iy
DI_*'(T'.T'* T j\\
‘ i1
i [
¥
— 13 |—
- pu)
W P a5 A B J
il Y. witszay] dauw ' -
g LTt
qﬂ’ﬁ“a‘m DIMENSION IN mm. an. | AN/ootu AL
BREAKING
WEIGHT MATERIAL ,SURFACE
- T _ STRENGTH |-
MAT. No. O} A Y B | E | Dy P [asoores.|  FiNISHING
P +
ou40000 [ M6 |00 | 75 1 22 | 12 | 5,000 ~ (7 Wannan
3 -~
ewaeme{mummzﬂu
‘ Qs nA .
Qa0 Mie | 200 | 150 | 22 12 5,000 ~34 STEEL
1 HOT DIP GALV. ACC. TO
. -1 0140002 M6 | 250 [ 200 22 | 12 | 5,000 [ =425
- PEA. STANDARD
r
R
. \\ £
s 01140003 | Mmis [ 300 | 250 | 22 | 12 | 5000 | =51 !
= - |-
%*.mtlmgt memmﬂ’i%ﬁ'waén‘éu NOTE | tF NOT OTHERWISE INDICATED
ﬂnﬁbﬂﬂt m:nauu-t noumu THE BOLT, ROUND EYE,IS
ANRMRL 2 M9 FITTED WITH TWO SQUARE NUTS .
L] J .
NOVAIYUALVAATY m :Mm‘fgzﬁ‘tmumﬂ Worerrantb oo,
-y
— numm:..qu...........
NWUU ”‘:{..?.'23 S N'nn-n' ‘g]‘. “"‘f{:’ - i?ﬁkoﬁ?‘f&lo/.?.(lg
RIS By L D o S Ve
it A
I - oar .
e w*' ST 61140000 - ﬂﬁﬂ;ﬂ“‘.ei‘; *:"Nﬂﬁ“ wellu, Lo BN,
Wt ren rf"—— ' " ' P
A i 01140003 TS S e
!!u"ltﬂﬂﬂ"tfﬂﬂ-‘_,(;{ ....... A
o o, oy uuum"'t.%?.'..f!'.?(!?.?i'.
— nn LA § 01400060 - BOLT, ROUND EYE ... ... _
........................ 0140003 WS | paeecu L peu




#TN

a T

A
B8
l
A 7 7 NG G O [ S
] | l
I L *
f’ljl.’
FORGED OVAL EYE —
\:‘7
/
: —
—_— 13—
e, A N W N wAaeAY|  Wavun - ~
TRRYN ] 7 a ?‘inﬁm‘ﬁa’\uﬁ‘i
1 DIMENSIONS 1N mm. Ber‘ nn/100 44 TERIA
o EAKNG \rigHr | MATERIAL - &
A B F T
MATERIAL NUMBER | O € 2 |STRE ™M kaa00Pes] sURFACE  FiNisHING
a
HARMIARAR:N
OH50000 Mt6 | 150 [ tOO | S0 | 38 14 | >6300 ST NIRRT % NN
At
MILO STEEL
HOT DIP GALV. ACC
TO PEA. STANDARD.
0115000t Mmie} 200} 1s0 | so | 38 | 1a | 36500
01150002 M@&|3s0] 50 ] s0 | 38 | 14 | 26500

PRELIMINARY

/\/r -_' P\
AW RTUOND
]

s
AT VI TR

L aTH . CHPRLL AL
]

f u H
f:a'rmgn-\—::\'m_n, Ll

X B30 30 MG A WA

P

"...-"I'L' . v Anaiaiuiiiie B v T t"a&l!l«-“-i";"\d';- ...........
L 7 n AT L I - 19 25:13
D O N X o B e S e e 29 WA,
Charep e, {,}#{ DS o “n"fd“m" TtorTTtETT
i , & Y

L - AT e mmm—
Fur i /t1 NRAAONAA 1ON 16 L B
0'.:'»‘-"11”.:."4_ Aru. A EXLURLRY

1

BOLT, OVAL EYE, M 16

v s §B1-018/22018

rE-t - -

- .
L I E o T L




FORGED OVAL EYE l

FOCLIMINARY

. - = a:‘ =3 * 3 [ o -~
AR R Heoo e “m;?‘h'““ W, ARANARINIRN
! DIMENSIONS N mm, - {An/100 W A
BREAKING WEIGHT MATERIAL a
TERIA ) A B £ F 1) STRENGTH
MATERIAL NUMBER \ 2 KQ. xg./10ORes! SURFACE  FINISHING
a &
Lﬂﬁ\"’f‘lﬂ"lﬂlﬂ“
oNBoL 00 M20| 350 | 150 | 50 | 38 | 16 212,000 puseRer s no
STEEL
" HOT DIF GALV. ACC
Y
N oS0 01 M201450 | 200 | 50 |38 | 16 | »12,000 TO PEA. STANDARD.
P
b -~ !’.,? B :SQ ::, ‘:_ \
/ N}
noAsuanatiou Vi { ~ T T -
03‘\{?19{‘10‘710 MM Ae 4 f] NOYA r.mumu'fmuuuu ...........
Taun. .. emF v i WAL 18 (VF: B }
%“ﬂﬂ . P ’:n-mﬁi e ——————— ....I., e Y - -
o, V) o e —— 0 o
q‘,i.,n., Y{}Jp . p 5 \: u:.n. T S
b ¢ ! h;‘lu't-t_ R Y\ T —
mm;'mwv" . ﬁﬁ/nm\uowm , N 20 o 3
mamma_‘-..r ......... TRL Lt S TV e emend]
ueﬂuwrmvhu_.. o mae- -
T wuaunSB(- 018/22019 ]
AN IMANIGNARA : ,
' . BOLT, Oval. E£YE , M20 T L L




—i3 —

v ) ) 1 4 L4 g
Admaut N HA. wstthaw {wu-k ddn  anvin
t OIMENSION IN mm. nn.  [hfl/ee ’
GREAKING :
: 2 [Tingt) e FINISHING
4 3
- Mis| 150 | 100 ;| 22 12 5,000 ~ 255 | mANNAN
% -
PIWRINTK ATHIRIAIN

: : wBe NN,

, +

\ ' |_
! f STEEL
i e HOT DIP GALV. ACC.TO
" 5 PEA. STANDARD
: {
[ £
| !
*_ i
j

1 L

e - nntissyiduosdy NOTE : [F NOT OTHERWISE INDICATED
shandamaanoutiznoud® THE BOLT, ROUND EYE, IS
smBmaey 2 1 FITTED WITH TWO SQUARE NUTS.

PRELIMINARY

afninfivl H3InnY

M 19 N0.3539 BOLT, ROUND EYR




| LIMINARY
. ii ?V 1N/ Y .
‘ g
| -
jan
AN 4
R
s = -
&
. -
&
@ A
“ . dt ! -
| UL LT
. ACC.TODIN
&gt w—
g P ~ ¥ -~
’Ji‘ff:‘lmﬂﬁ am W "‘“““""’100 'ufgm"mm NN
DIMENSIONS IN  mm,
’ MAT,SURE FINISHING,REMARKS
MATNO. [ Td [ d;] dal €l h [k [m '9&«., :
TANMNNATY ] Ak—Bw3e?
0n8oo0! |Mi6|35|63|35(t3 13014} 6| ~238 mggw#m
- HOT GALV.
! .
: |
‘ |
. ! '|
; i
h\./“’-\*
Y
ik
. ] 1 .
navidanIy AT & mnma - [Winuuuatososs
nnum"faﬂuuu
L] i .
DRI IR oo it O A wuum"nwn ALONAHE
> WAL........ oNewaanl ... hi
WAL i S, - “nuuu'}uﬂ .
whm LT Y U S 'H ﬁ'UT"N ﬂ% 582 P T N
"j’."“”“““““--w-- ML 3 gL um, ney, mwﬁawn AR
R81UILNIINDY, -
A NUT EYE.. ... DN 582  |WuuawisQe05/16004
. 03  SCREWS,NUT, WASHERS,NALS,STAPLES 1 \iuy | yasdtuau_t_uwu
A
lg '




Fed
n Y
- m' !
. ’ -~
_ o R
B, 3T A DRy B
- ! T : . '/ . £ " e
: LroaANAAAL YL Y e
. - |\‘ .
o ¥ "‘}‘
O
F‘ i
. il |
S -
] —i
= ‘
c P
i
: () -
.
o
6
o PR P WAtR N Aoty ANRHREATIG N
ARan DIMENSIONG. %  mm n AR I
e mm, '
MATERIAL ~ BREAKING |  con MATERIAL &
NUMBER - { SURFA MNISHING
UMBE! A 8 c D E |Fxo6 STRE:GTH BOLT CE F
! ~
- cls2 lre | 57710 | 13 |21x29 N R war-wied 5 :
onsoooz.l. . | < | . . 28320 | m20t3) onurnimusnatg ‘
N s dody Loy en) [CR 0 [ ST
e - - NEMA STANDARD NO.PH 5
l | . « HOT DIP GALV. ACCTS
. ASENM=AES )
. hrackal ‘
- e e i e — Y
ne o naseu A o T R PR
" -
. ey TN ﬁ’MQNﬂ’lﬂ o S
qwuu-.:‘j’.".‘f.’.%:’.‘:‘f__... Liners \Mdumn B, 2_4...
ﬁ'dqm'-;tﬁé—‘é‘:% : : “QT“ o R W eeeeaca)
v - . * ﬁ‘t
ST oneooo2 BIUIAYN UORK. ... B ananee
vawiree L ST s ... N
HEIM I L e -
v T vy SBLOIBR202R 4
W*ﬁ"“m‘"d‘!“m”“ﬂ ongoco2  EYELET "
S b - | aeathun L wee




-

v -
1Nl‘lmwl e

MATERIAL

OMENSIONS 1N mm.

~ s
LTI H AR
nn.

&5
: YUt HH,

NUMBER

BREAKING
STRENGTH
kg.

oN80003 | 38.1 3 -]

onsooo4e | 28 38

22 3% 47

22 | 38 | 47

[y, ¢
hrTuRan

4 -

ARAWRTATRWNY
& oy 4

ARNANALA MATERIAL B

NN,
FOR STEEL SURFACE

STRANDED, | FINISHING
WIRE__mm

o '
wRAYETA
P
oUAINIRANY

— ——

i { Gl::"nnuuuu
no Gdusmnedou : - ~ v i
" A Y
wrm‘:.. "fr.q\_ft'onl ﬂqfni \1ITq ﬁ} 14 QN ﬂqﬂ qn“n‘nac“'_‘u . _
3 e oS Joudiadu?
gl T T s v WRIRTY
3 1% 2 b4 e TN T .- - N o -
WA - T;I-J . puptiu -
Ypane.. . WIS - ~ 2 1% s,
vt - L T | e
“‘;‘“‘:’“'”""-’-’ﬁ NNIURDTIYUY :
AIARTIO Y, c e NP LT3 1 SRR E
S I o - o =
SN AR N ' wuushun SB1-015/22029 |
TN TIRENTUA NUT, EYE, THIMBLE

.o . '
w1 yEe Wil 1 _uNu




§ ICE

FRELIMY

MARY

et

DATE

FOR P E. A.

Drw. by =~y el

03ﬂ‘"1 . MU, N2 L n: u‘nwn

Y A el " Kinnmioo WA, AN, HAOLIAR
1 DIMENSIONS IN MM, WEIGHT N MN'ERML,SUF!F&CE‘
MATNO. [Ta | 8 c o = 1 kg./100 Pes. | FINISHING, REMARKS
DT i
' 1 '. — ‘ r :
oueo200 | s0 | s 15 | 18 125 8.82 VLD STEEL  HOT GALY.
‘ L yean, a1uAIn A
5 : 22 1125 |~12.65 | iMANaan EUAATE
oneozol | 50 60 © 5 | | MILD STEEL,HOT GALY
: ; I 1
: : i i
. | i |
; t T
I
i : ! I
. | : |
* ': - L "
GERMAN ADVISORY TEAM - PROVINCIAL ELECTRICITY AUTHORITY
mn'rn; t - . -
" W 53,965 mmﬁmﬂﬂutm

e o s o e ———

WASHER, CURVED,SQUARE.
03 SCREWS, NUTS, WASHERS, NAILS, STAPLES.

K3l

09073

SHEET NO.'| OF |




WH7000 10 ON'LYWN

SN

C e ————————

T DRy

¢ 328 _ F g
HE PV _
b AN L 2o 3 .
! _ uﬂ P & @ S
i g B & S| b3
(4 2 v 3 PD e N m
o U" E) 3w ; h. ]
= EN I S 2 -
=3 g 5 4% b 4 ;
F v = o _-lic e €
Vll» H.H m ..ﬂ. o 12 “ ‘.“
5 g RN
5w e e am ]
o
T N . N [ )
< z = z Z
z = w 9
g8 ¢
X=X 3
¢l 83
g w13 33 cel 23
BAGHSNLLY e v | X EE
—«loozl- b o8¢t ~—— ooz} | 23l < ¢
Loy T - wyil B A g, 0
. | / (. FY - ~
e e 8 @ - ZRolm =«
-Y |||||||||||||| . lm ool W o W
Wﬂ i ; mix » _arsw [-+]
' - o w =
I T TiRslgEs
|t o 3 28
! v FIAVL 2221 SIL &L FONVHD » c E8 3 ww
| “ HERT
_ w Q3IZINVATYD dId ~ LOH '€ . .
4 % B [lllld.lll - r a 5
! fe—q . ¥ 9 37avL o GiL :
; pozed OL ONIGHODIY T3ALS TI3NNWHD 2
;& A ww NI JYY SNOISNIWIG TV I _
: v -
._ ﬂa.ﬂ 310N <~ M
: — L . —
T R !
gos AN
. PR 1 00%000 10 ON LYW PooLwmay
I Loyt
' — - _,u,.. ..M T
: g R T
e e ymman_/ coat
e URREUNLLY Y
“ — - - | Y




i i H
4« 78 m _ AR ;
A i
' we R ¢
- 7.” ! - ] ..Qﬁ
) i H ) m L 8 m H
o o
%< : c——> 1 o
N adf13 _ e
m -
ﬂm ZOTOTOTO O LVW 9 _ w
-5
£Y | |
il i ¢ - 8“' o'z - Oll .
olt pe -0M'2 T + ﬂnlnws L,
_ — — _ -
= - L m —
= "o— . J_gﬁauum‘\\ S . T
e S d— i —y géf?‘ : 2!1, i .— 3 =& ﬁ E E
H * a0 ' v PRI o
i u Lt e e o e = e e e eSS - M [ Sl oo
IIIIIIIIIIIIIIII - S -t m x x| W xun..
,. 21 |¥ i3d ©o e 0 el b g0
v ol R S X xx
b—os— e o
' e 0% 2 @avy 4231 §I1 0L GORVED » | - o~ m
. C e
« \( ﬁ GIZINVAIVO did- LOHE $s Mm
?r. ¢ 3iavi on sl _ e r > @
. 7 o1 ONKGSSIOV 133LS TNV w €2, o=e
” M._ wu N IHY SNOISNIWIA TV __.
. 4 "3LON o
. .l‘ ; N - 7 1]
- ’ r -
-...rll ,....M_a .W/M ng X
L4 i n A
wL xlon_!.....llonn ' __J..,... H ﬁ.
.ﬁ.b Q000TOTO ON "LyW ﬁﬂUu % ﬁu O B
4 i o
y 130 umm|\l\ |\ FUR R a0
rP _.uoa__...s.; S R r_ :




65

mMWnouiew
ASSEMBLY NO,

[+F] D9 ' SLoT{S)
/ a ya ya .- i
=
- -
P VAR QRN
| T %0 1
_ . _ . v |
Aot B c E E c ) A~
: |
I }
i \ }J -
SLOT(S)
DIMENSIONS N mm.
MATERIAL MATERIAL &
NomBer [T s SURFACE FINISHING
STEEL Si Llafefc]leloaton] ,q, ]
L FLAT STEEL BARS
1030102 | 12x100 |760| 40 | 105 | 50 | 185 | 24 | 18 | 18xes |Ts. 55 HOT oOIP
GALY.

nadidansaaidiannione

m'i'lﬂifﬁwqﬁmﬂ

I@:muuw tetisememsse e

i o .
saeddansan T Y A
'{,ﬁw - Sne_wee oi:;hmq ﬁgmd{:@m 30U 28
T ATUTIT T 1 o
"?“]‘mﬁﬂ‘?ﬂﬁ...?}‘.{ﬂ‘ﬁ( B yw :"':9""“‘:;---- S A
TR | Wl _Sadwm _F
o%d'qmumﬁpm.«bf. “&!‘ﬁ vinvden (105 §
setuMIteY PLATE, STEEL, DOUBLE ARMING (2XI100___. .
Vi i 7 SA2-015/28002 1
@mqqqquwmﬂ%ﬂ wumadi SA2-015/28002

[, | - ™~ 1
awy | sedanan | L1




. — -

3
wyaNa 4 X 30

e

105

COTTER PIN 4X 30 |

iretmgn)ardng
(™ PREFORMED OEAD - END.
[

—

Ld

l wardiswawde

CLEVIS , THIMBLE .

[ S

.%r.‘{ Iy "f‘v"? nf' fmﬁ?vni

ﬁ'mmmun -
mnmn 29, M #f{v@

-

b T Y - . 0':
“} osiao0n MUUMANA mmuﬂ?mwmuawdw

9

..............

-

Q314001

------

CLEVIS,THIMBLE , FOR PREFORMED

DEAD~END WL 1 oot

.-,i-r.“ ﬁo
vl oL

HIF'?‘:n‘ YW NP

ey ‘2 ““'i\,

E‘ “ b i ‘ ,- 1r a ;
CUIRINALRY
L P . P _ Q. ) \ e
NaNAYIRIMNROY m%’lwwq WY Hmﬂ L P
- . . - nl-:"‘“"“)llﬂu ...........
G.‘ruu.s?.“veﬂ'}:’.'rm.{.. ' Hn mr_ "‘\. ﬁ—()\ 1‘""' W8 i-ﬂ 54219
B L T T T T ISTRpT T . 0(-»-.- . v,
afovLien

T

-




amz\‘

:-f.J;;e'.:.

t\{”"

':'H@sﬂfni’i
MATERIAL NUMBER

0314004

- - by [N t ,

i Helaiaand Aniudiwetmdidanvdney
DESCRIPTION: CLEVIS, THIMBLE,FOR PREFORMED DEAD - END
AN B ANTANT 1 WANAA LM
MATERIAL 800Y , PART | MILD STEEL
ﬁqﬂﬁqéﬁ; dun 2 HWANTAT AL NN
MATERIAL BOLT ' PART 2 MWD S L

'3 [ T = C* ] -~ v d ‘{
qagmaf%':ngnun IR wRUNAI W SRR D ANS
MATERIAL COTTER PIN |, PART 3 BRASS OR STAINLESS STEEL

BAURINTABIHNINTIN AND.

MU RTRY RN
HOT DIR. GALY. ACC TO'PEA-STANDARD

SURFACE FINISHING OF THE FERROUS PARTS

fawnn (dasnam ) o0 /9w 0.5
WEIGHT ( APPROX.} Kg/pcs
- ‘-\- \
i
¥ _ ! =L v
nptiAguanaday ﬂmV‘M}ﬂ/’J BOANIA cl'z‘""""-'“
) : »
¥ g} A B Ty “"'""O“Ju Trmreronee
ﬂgﬂﬂ.@.“c{. I:':‘f‘!':t'h‘v:-.s. ".‘I i -‘\ \ H\ . ey i .\:J 15712719
5 ¢ e Ty e W S e v e e . ™ "

whatedwt

" '11 77'{2{“9(,.%:(}}"0{

‘Pu“k'l "t l.al! ..

Aauvnes s ..al?

" - - a i) N} t
oza00n Mm@ Riulidetmandanudne

WL A 50! - 105}/:905.3

aksdm

035140010 CLEVIS,THIMBLE , FOR PREFORMED

] %d’mmfgﬂmﬂun

DEAD-END

sesvaran Tearevawsne . ———

¥ S 2 3, 2wy

e ————i i e



- - .
T INA IAD p P /
2‘ a.EI\fi-n'f.‘ W
180. HOLE //‘" 2 d0HOLE 180 HOLE
50 - /
\ /
16 500 ke /
I // o
\\ o
(4] Ip—
\\ \L o T——
3 . o 2
i ~ - * ]
" - ——
[41]
. | ' _/' l }
]
8,250 kg B,250 kq. 18
— 24 Q0 —— 100 24 -
DIMENSIONS  IN mm.
MR RN
\ 03140013
MATERIAL NUMBER
HASRIOWE e an.
B = 16,500
ULTIMATE STRENGTH kQ.
S o WARNARTIG
S’ A 1
N MATERIAL - MILD STEEL
AIUNY muésm'ﬁmwmmﬁ;ﬁﬁu nele,
SURFACE FINISHING . HOT_DIP GALY._ACC. TO PEA. STANDARD,
NN ELWRINA IS e it T et
ﬂnfja\“hn‘i'lﬁ n i “i q qqtd ﬂ}h ] .} : T;PL;il»:{,‘.u'lh_
T= = " P
ot yaasarererlt RSN | laneaind. 25 AL 22
?:M”-:'\- D e "(ﬁ' ¥ ?._-;-1,_ Ceme e = - l, o “.“:
PP (L e ekt tessmettasnt S o
PSRRI/ od b 2l ! & ‘( IRt R YL PR
. 1 ' bo | 03140013 PWUHARAHUNATY :
WL Y ;o valid . -
':\‘!ﬂ"m‘aurr- w0 T - 1
et | uan  SBIT0I5/22042
SLR TP
IR 0B oaa00t3 SPACER, PLATE p ‘ -
Aty | o ian | W
""""""""""" - — Y EE VU,

e ———————. S—— o -+ e ———



Salal el |

PE

b

Dg

fiin
il it i

(AR

/~ SLOT (S)

== : L 3
__|J T pa
I H uy
| | '
- A FcC } 3 ! E —
L
| 1 |
! ._
s {r—-—F
! * |
da
SLOT (S)
VA v Wa o ARABALNTTEIUNA
' DIMENSIONS  IN mm. '
. v S MATERIAL a
MATERIAL NUMBER
e steesize | © 12 | | B [P | x g,y | SURFACE FINISHING
4
mnnﬁx:;uumu ubn, 55
1030002 . 6 x 100 a50 | 38 50 |40 | 18 I8 x 68 DIRIMAMNINNIMT I e,
FLAT STEEL BARS
ACC. TDO TIS. 55
0103 Q003 6 xt00 lsoo| 30 |eo [1so0 | 18 6.« 78 | HOT OIP GALV. acC.
TO PEA. STANDARD.
o [oysy
ne Pt N2y Whmwnen,
"]ﬁﬁ%d’"“ﬁu gnunu‘fmﬂnuu_ s
tﬁ%f—%.m. -T?":‘T.‘M N ﬂumﬁ?ﬁfu? 5 'nﬂ,_g?__
ﬂ‘m"ﬁw, B T o T R - < - ‘-R,,'
’Ef:’if":“_,_?_‘;m.a____-_, I d - l:ﬁu_ﬂ.;) oo R—
MR et Ry e
Havioeec JUEIN. WNMWAN 94N 6 X 100 :
WIS ”‘hiﬁ.« TRIULAT IR - T
éﬁwaurr-'w'\'m. PR -~ pm e el
v § 230 ull - sLuaen $81015/22013 |
AU PLATE, STEEL , 6 X I00..... I
. jh FA w— WU | duauau b wwn

0 A et



L=

Ll At

1 . ; },‘J"\ f: .“:\ e e
RRREEINE SN T AR O L]
Ty ‘\ it r’
~Dg D, ¢ S~ SLoT (8)
!_F! / /J l
/’; / _x‘f. g L
/ .
Y o S _ . N O T S __TI 3
i / t
—r A B -—= e — E — cowdomn—n— E I ™ _.L_, B ‘l a P
L — — e et e ——
I y | .
! =.
- £ +
l 1 1
T g
e —— da - ..i
SLOT (S )
: == T o =
i - -~
AW HN nu HH. ‘\Nf}'nﬂ!n‘ﬂa"l\.!ﬂ'i
' D‘MENSIONS iN mm., MATERIAL a
MATERIAL. 5 S
nomper | ™ | b a Y e fc [ € | 0a |0 | e xa,)| SURFACE FINISHING
: STEEL SIZE 2 -
BMEAIAA TN
R
. QIO30100 12 x 20 650 1 40 § 95 S50 ] 140 | 24 8 18 x 68 HEn, §5  O0RAnA
-~ menmau nvlo,
N
FLAT STEEL BARS
TiS. 55 HOT DIP
GI1030101 12 % 100 700 | 40 20 60 160 | 24 ;) 18 x 78 GALY. ACC.TO PEA
. STANDARD.
e - o :
n%!]‘a‘"uw AN EAF] ’::r WBGUL L eeeees
’1.‘: rai"l’ll ¥ ﬂ’h 1'5"I|‘r‘m-’-1ﬂlut.. miwans
-Iu «-—,9—-“--1-_ . N "lll‘a"l!”‘\ 5 @ 2 2.
?‘.:1;0‘- # - ;-“!"}n"“l o 3 - ‘JJ T ['l -
.l-l‘n T . . . . '-"'-""‘ﬂ___'____“___,
YA W“’F’f’n , & .
4 l' 2 Tty . e .-
A B uwmmmnwﬁaaﬂmu WA 12 X 100... o
- L ﬂrﬂ. ; s 125
.\ an). ’(“ fhi S
rj'j‘\u:u"-‘\"hﬁa.r"( _'_"T - - ~
; o 4 wuu.BuR $B1-015/22016. |
ik ‘:' ameaune| PLATE, STEEL, DOUBLE ARMING 12X100.] .o @ o 0\ .
R oseninbad. L L



j " t -
! 101“'1 1n11o]mnn uf

CLAMR GUY AND LINK, CABLE SPACER

OV AN AN
ALL DIMENSIONS ARE IN mm { INCH) 1 '\_'*ﬁ'-{;{;-!i,M'g' f\éA!"QY
PE—— T Y IS
'
ol
01} a2 ua')—-l -
i
-
wis (3 RN 10N 30-ssR e
a9 { insndninee 9.0-2.8 o) . 9
FANNALINITAY SUTARE FOR STEEL STRAMDED WRE L L
BOLT, CARRIAGE 30-96 suf (9.0-12.5 m W DMAMETER) SOE VEW
0o
MATERAL  NUMBER 02440102
- o muindel dan 3
DESCRIPTION . CLAMR GUY, TRIPLE oLT
R L)
#:lm indneow F .
MA MLD SYEEL
oY P v I
SURFACE  FINKSHING HOT DIP GALY.
wInn
WEIGHT
. Ry T —
+ = — F____ﬂ
120 l l
1 —in 'li.—-09
4\ =/
[ 1S -
innan
MATERIAL NUMBER 02440103
Ty " U T
4N AMEIIRNIUANILI0
DESCRIPTION | LINK, CABLE SPACER
inn WMANIAUNAK  © WK, MR W8N, 20
MATERIAL STEEL ROUND BAR # 9 mm ACC.TO TiS. 20
f1uN3 PORE e |
SURFACE  FINISHING HOT DIP GALY.
W nun
WEIGHT
nm“mnﬂmdﬁmaxm‘?mml : - Wununuy.
/ \Awain
RININT I m?]‘dﬂ f‘lh Q” k4 L T———
;f‘”‘ . ARURE! AowdIuR, 22.09.23..
T8 en . \
Lnamn (P22 NS ool whuuuint. 7,08, 25%0..
| A A f Aa
. SRV ‘s : - R (M
B S el rraundne ik AHIATAUABGACT Shd.on. (9]
Anganeg A4 oY WO e
:e‘wnﬂﬂﬂw -
BURSAA: MB2024. .

unwd, | sedwan _L_usiw




1: | E }
T g™
380 HOLE mm
1 Meandin
A
HOLE
j. m m
o WATNO. 1020440112
sho ’1"'
0
T dequnah ; v
100 STOEL CHAMNNEL mem
A‘ T g™
HOLEL mm
2%
1 ] —
il —tle 500 o 100 |
CLECTRC WOLOMG '
1 llﬂm

MOLE mm
S N T
e 15
rvivfuronive
FOR GROUND TERMEMAL

Swanda | WROAWAY mwin
DETAL GROUND TERMINAL SECTION

wnuw; 1 indnquanaiulusiesdetounny uon. 1227 svead 4
2 Inonudsnelwdasenmsusenoy Tawideusou uasfiarumndansdiofluvaunn es lussou
NOTES; 1 STEEL CHANNEL ACCORDMNG TO TIS 1227, TABLE +4.
2 AFTER FABRICATION, THE BRACKET SMALL BE GALVAMIZED 8Y HOT-OIP PROCESS AND THE
MINMUM AVERAGE THICKNESS OF ZINC-COATING SHALL BE NOT LESS THAN_BS MICRONS. .

neriFnssuliiuaziesosna  dedenssy  msbilihdiuginieg

WMANABULALUABINIANINLAY WUUYT SB3-015/64004

AMSUITUU 22 kV uag 33 kV

Ui 11 me. 2564 AERIAL CABLE CORNER SUPPORT BRACKET WAL 1 U999 1 WHU
FOR 22 kV AND 33 kV SYSTEMS




ONDT WW 000E ‘ Ww 9 X 89 X S21  WYVSSOYID 133LS T3NNVHI

000E
I |¥ 4
wu gle 3T0H 006 oci02e 008 00S 022081 P— 008 ONJO¥dS 370H L7106
- m
] r
wu 22¢ 370 0S4 002w+— 05k \amv 002 1]=F3 - ONidYds 3704 Nid
-
002+ r ! e 002k 002 ! 002

uw oig 3704

-

1 BEoRTWIU 1 WU

=

FAIN3SN  MSIWWIEIUARAE

—!——i:sas
65
SECTION p_p

REUN

wuuLauf SA2—015/39025

32.5
v

ONQT WW 0052 " WW § X 0S X 001 ° WAYSSO¥D 113318 3NNVHI

Aalip)

4

LASaNa

pos'2
ww gig u_._n__._ 1151 4 o2e L1111 a0s o2z ommlJ ozro,qn_w 370+ L1086
| 1Y =)
[ i —+ - } . |=I .=. H*” S
| _.Q-v
wW 229 3 Y] (.
0H _-lmnmlimnf_i_amtfl..oovl...!_......laovlli_naomo_ SL1 \mnmlln_ ONIJ¥ES 370H NId olo
T T = = LT 7 &= I =X —r= _._L__:
' ooze ' v TR ' Ronee !

PRELIMINARY

uuw gt 370H

[T

FInasuiwvILa
CHANNEL STEFL CROSSARM FOR 22-33 KV

2538

RRAWAS

navl

-

2. TO BE HOT DIP GALVANIZED ACCORDING TO PEA STANDARD

1. CHANNEL STEEL ACCORDING TO TIS 1227 TABLE 4

fud 17 Suneu

Afdu

-




LIMINARY

i,
D
&3

— MY
i n |
e Rl Er
j 1 A

"
G
v,

&

[
. WRIUNGNRUU ——ISL—
UNNMURKNEN WASHER,ROUND,FLAT

NUT,HEXAGON,DIN.555

rl"

o = X NN wWIIUTEAD ﬁﬂ"mﬁ'ﬁ
THEHLRUN . TanuasmEauin
DIMENSIONS IN mm (nn.y nn. noo 8u ?
Ly :::é‘:é:z WEIGHT MATERIAL AND
i MAT. NO p|lL|B | K!lE F!dalT
. MAax.k (xat) kg/100 Pos. SURFACE FINISHING
- 186 |50 | 40) 10 | 24 ] 277 19.2] 13 5,000 wanaat

guden:l Ry
WIRSHIUNDY fivA.

STEEL

HOT DIP GALVA-
-NIZED ACC. TC
PEA STANDARD.

neviranssuiwwLAzFSauna  deddnssy  mslWWisugiine

fitdu  falwee L aa"ﬂmﬁtn ﬁjﬂﬂlﬂgﬁu Lﬁu 16x50 uUULﬁﬂﬁ_Sﬂz_-015/40001.

Huft 10 unsIAu 2540 BOLT, MACHINE, HEXAGON M.16x50 wud 3 mashuwn 1 e




PROVINCIAL ELECTRICITY AUTHORITY

nslivdauginna TECHNICAL SPECIFICATION DIVISION

PROVINGIAL ELECTRICITY AUTHORITY

msﬁmuﬂizﬂznm“lumsdasmamwam’a‘m@raumwmmu (Type test report)

HazszaznalumMsdadssileguiialsznaumsnasandam

Specification No.: - Approved date: 21/12/2560 Rev. No.: - Form No.: - Page 1 of 1

enmsANuuMeNeazPeamla

(ADDENDUM)
A A A ya @ & = ~ 2 v VY
wNETINUEN (ADDENDUM) U 1'14'0f)L‘]Jua'JuﬂuqufJ\ﬁWﬂagmﬂﬂﬁlﬂﬂﬂlﬂﬂ?nﬁdl u”lﬂuum)gma

1. MIMnuATZezNMUMITINSNUNANTNATIVIRWIZIUY (Type test report)
wineazdeadamrualidiuesinzdesdadisioaunanisnaaoumwIgHuy (Type test report)
W30MINADTUTOIHANITNATOUIRNIZUUY (Type test certificates) “1HlanoI1A19zADITAAIT1091UND
mIsnadeUmINZUUY WiemisdeusemansnadeumIZIUUINS DUS UM EWEna1TMUMATIA”

o v Ay v =
UNUMTNTUUATSILLINNIATITIYITUA T]]lﬂi$ullﬁu51ﬂﬁzlﬂﬂﬂﬁlﬂﬂ

¥ { 9 o 7 o o Y o [ { o o @
‘VI\“I‘ld! NNV ﬁﬂ@.ﬂﬂim‘ﬁ ﬂT‘Iﬂ. ﬂTVi‘LlﬂfJ'E)lIf!"]JGl,‘Vi‘1/]1ﬂ'lf!"ﬂﬂﬁ'ﬁ]lllﬂW'lﬁLlll‘]Jﬂ'lﬂVfaﬁ’l]'lﬂﬁﬂ'lﬁﬂluiy'lﬂﬂ
Y v 1

Y
nna. LL’(,%}'J Iﬂﬂﬂﬁﬂ]ﬂﬂ]ﬂﬁ]gﬁﬂxﬁm JIYNUAANITNATD U AN NOUNITAIVDIUY 1ﬁ}ﬂ051ﬂﬁ$mﬂﬂuﬁ}

ANAN

2. MIMMUAZEzlHMIVATIMBENL (Sample) tWalsznoUMINAITANIAN
a o Yy v v 1w ' o o A
minseazReamilanrualidiauosnveasatadiq1ed19waaglnial (Sample) 1o1sznouns
a Y] @ 1 @ 1 ] 4 @ o o [ ]
wnsandam “Idiauesnnzdosiadeiodananginsal nelu s ushins Wudaaniuauesinn”

o [ 1 q/ ] d' 9 =3
LL‘VIMﬂTiﬂTWUﬂigﬂgL’m1%ﬂﬁﬁﬁ?@ﬂ?ﬂﬂqﬂizuq’ﬂl‘!'ﬁﬂﬁ$£@ﬂﬂﬁlﬂﬂ




PROVINCIAL ELECTRICITY AUTHORITY
TECHNICAL SPECIFICATION DIVISION

TOLERANCE

Specification No. - Approved date : 11 LA 2962 Rev.No.:01 | Form No,:- | Pagelof2

MANUIN (Addendum)

i wsudun FANARIALAREY | dlydnenl | JUW
(Nadiuns)

1 | sspzamennad (vauwmin S vouman) +5 -3 L (1)
sEBERINYAAUEnats Slot fa veumdn

2 » = - +5 -3 A 2
JEYINYAAUONATINaY f voUmdn

3 | svezarngmrudnansg Slot fia gafudnaag Slot +2 -2 X1 3)

gzRInrAudnasgnay 4 yagudnangnay

4 - = 7 +1 -1 X2 ()
sraraIngeaudnatgnas e gaguinansg Slot

5 uradueuaudnatsgnan 10 dafums f1 24 Tafims | +1 -1 0@ )
wng Slot +1 -1 d1, d2

6 | szpznduniislany Bolt +8 -0 B (6)

VITELNS) ©

1. masaniaglhilie Tunsdidedeluil
1.1 fmstmuasmiseratanasuludatmusniamaiiauds
12 dofmusmaneiialdtiBdianaggramnssy wen) dg @dinsfmundiaia

aamadnulunAsgIgREMNTSY (Nen.) Auna1Iud

2. jukansiingn uwasdiydnwel 'lﬁgﬁ Page 2 of 2

3. dwdumsasnfuaniauaiifesimsussneuldausiiuensauaidug wu mdnuseiy, asuwmidn
sty PEA vsanuvilumsvnastsenauldmuiutueriauaifna Tumsasaedude




PROVINCIAL ELECTRICITY AUTHORITY

TECHNICAL SPECIFICATION DIVISION

TOLERANCE

Specification No. -

Approved date :

31 UA 62

Rev. No. : 01

Form No. : -

Page 2 of 2

at 1 at s o
siluaaifangiy nardudnuol

[ 3

1T

’ X1 R
TV e
| p g, | PHIAK)
TaR

F 3
A 4

h 4

F 3

0O Do
&
S O [_._._] ...... - dl
d2
sU (5
ol B I
; il
sU# (6)




